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Peer group interaction in a classroom helps in

(1) Concept understanding
(2) Realization of One's misunderstanding
(3) Rapport Building
(4) Questioning
Options:
64635094939, 1
64635094940, 2

64535094941, 3
645350394942, 4

Question Number : 1 Question Id : 64635024187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

64535094939, 1
64535034340, 2
64835094941, =2
64535094942, 4

Question Number : 2 Question Id : 64635024188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When the learning outcomes of students are ensured with employment of less resources and
effort on the part of a teacher and more imitiative for self-learning 15 evident, which of the

following expression will describe the teacher most appropriately?

(1) Teacher 1s successful (2) Teacher is effective
(3) Teacher is intelligent (4) Teacher 1s practical
Options:

64535094942, 1
E4E35094944, 2
E4535094945, 3
E453509494E. 4



Question Number : 2 Question Id : 64635024188 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535094943, 1
645350394944, 2
645350943945, 3
E4E3509494E, 4

Question Number : 3 Question Id : 64635024189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reflective Practice implies use of one’s

(1) Cognition (2) Metacognition
(3) Metacognition on cognition (4) Renforcement of learning
Options:

645350394947, 1
64535094945, 2
E4E35094949. 3
E4E350943950. 4

Question Number : 3 Question Id : 64635024189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535094947, 1
6453503949458, 2
645350943949, 3
E4E35094950. 4

Question Number : 4 Question Id : 64635024190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Inclusive education implies

(1) Ensuring learning outcome of every child to be the same
2 Including the disabled in the main stream

(3) Provides compulsory education for children below 14 years
(4) Ensuring that no child is left behind in education

Options:

64535094951, 1
64535094952, 2
64535034353 =
64535034354 4

Question Number : 4 Question Id : 64635024190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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4525094951
64635094952,

E4535094953.
54535094954,
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Question Number : 5 Question Id : 64635024191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Listening is important for a teacher to

(1) address the requurement of the learner

(2) gain knowledge

(3) keep the learner in good humour

(4) evaluate the learner for the progress made
Options:

64535094955, 1
645350394356, 2
E4E3503948957. 3
E4E35094955. 4

Question Number : 5 Question |d : 64635024191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535094955, 1
64535034356, 2
64835094957 2
E4E35094358. 4

Question Number : 6 Question Id : 64635024192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A hypothesis should be conceptually

(1) convoluted, complex and generic (2) complex, tough and general
(3) simple, clear and specific (4) obscure, complicated and simple
Options:

64535094955, 1
64535094960, 2
6453503943961, 3
E4535094362. 4

Question Number : 6 Question Id : 64635024192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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645350949559, 1
6453503943960, 2
64535094361, 3
EAEZ5094962. 4

Question Number : 7 Question Id : 64635024193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



During research, while recording observations if an observer rates an individual based on
the rating given in another aspect of the interaction, this 1s termed as the

(1) Evaluation effect (2) Error of central tendency
(3) Halo effect (4) Categorical effect
Options:

6453503943963, 1
64535094364, 2
E4E35094965, 3
EAE35094966. 4

Question Number : 7 Question Id : 64635024193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g F GRH, ATAFA G Fd THT AMG RI5 IR AT F gHL Tgel § & 18 e ¥ enaw w safw
=1 ¥fE wan 2, A1 98 ug FE 2

(1)  HeATH T (2) ¥ s R
3) & wE (4) Fifer
Options:

E4E35094963. 1
64535094964, 2
6453503943965, 3
E453509436E. 4

Question Number : 8 Question Id : 64635024194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The study of ‘why does stressful living result in heart attack’? Can be classified as

(1) Descriptive research (2y Explanatory research
(3) Correlational research (4) Feasibility research
Options:

64535094367, 1
EAE35094965. 2
E4E35094969. 3
64535094970, 4

Question Number : 8 Question Id : 64635024194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35094967. 1
64535094968, 2
645350949645, 3
645350394970, 4

Question Number : 9 Question Id : 64635024195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The formulation of a research problem can be compared to

(1) Laying the foundation of a building (2) Bulding the walls of a home
(3) Polishing the doors of a building (4) Constructing the ceiling of a house

Options:

64535094971, 1
64535024972 2
645350349373 2
64535034374, 4

Question Number : 9 Question Id : 64635024195 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350945971, 1
64535094972 2
645350394973, 3
E4E35094974. 4

Question Number : 10 Question Id : 64635024196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mailed questionnaire, observation, interview and collective questionnaire are instances of

(1) Secondary sources (2) Personal sources
(3) Primary sources (4) Tertiary sources
Options:

645350945975, 1
645350394976, 2
64535094977, 3
EAE35094975. 4

Question Number : 10 Question Id : 64635024196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

45350945975 1
64535094976, 2
64535024977, 5
64535034375, 4

Sub-Section Number: 2
Sub-Section Id: 6463501191
Question Shuffling Allowed : Yes

Question Id : 64635024197 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

A business will usually go through a clear set of stages that will make up 1ts orgamsational
life cycle. These stages include introduction, early growth, continuous growth, maturity and
decline. The first stage, the introduction stage, i1z the start-up phase where a business
decides what its core strengths and capabilities are and starts selling its product or service.
At this early stage, the founder or founders will be a part of every aspect of the daily process
of the business. The main goal at this stage is to take off to a good start and make a place in
the market.

The next stage, the early growth phase, aims at increased sales and more development. The
focus at this stage remains on the original product or service but the effort 1s to increase the
market share and venture into related products or services. The main goal is to move the
founder to a more managerial role so more time is spent on managing and building the
business. At this stage, documents and policies need to be developed so any member of the
organisation can see the business any time.

The third stage, the continuous growth stage, requires a systematic structure and more
formal relationships among its participants. At this stage, the resource requirements of the
business need careful handling. The focus 18 on the expansion of the business, keeping in
mind its core strength and capability. A formal organisational structure and a clear
delegation plan are important at this stage.

At the fourth stage of maturity, a business often slows down as the level of innovative energy
may have become weak and the formal structures may have become obstacles. A lot of care 1s
required to prevent decline.

Sub questions

Question Number : 11 Question Id : 64635024198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When will a business create its place in the market?

(1) At maturity (2) At introduction
(3) At early growth (4) At late growth
Options:

E4E3509459759. 1
E4E35094980. 2
E4E35094981. 3
E453509498%. 4

Question Number : 12 Question Id : 64635024199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The founder of a business does not move to a more managerial role at which stage?

(1) Early growth stage (2) Maturity stage
(3) Decline stage (4) Start up stage
Options:

645350394953, 1
E4E35094984. 2
E4E35094985. 3
E4E35094956. 4

Question Number : 13 Question Id : 64635024200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Venturing into related products and services does not mean that a business will

(1) 1gnore the original product

(2) move the founder to a more managerial role
(3) delegate more responsibilities

(4) ignore the related products and services

Options:

4535094987, 1
64535094988, 2
645350349389, =
64535034330, 4

Question Number : 14 Question Id : 64635024201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The resource requirements of a business need careful handling at which stage?

(1) Fourth (2) First
(3) Third (4) Second
Options:

E4E35094991. 1
E4E35094932. 2
645350949583, 3
645350949394, 4

Question Number : 15 Question Id : 64635024202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The slowing down of a business can happen if,

(1) there is a decline in the market share
(2) the level of innovative energy weakens
(3) the managerial roles are not clear

(4) the level of investment declines

Options:

64535094995, 1
E4E35094996. 2
64535094997, 5
64535094998, 4
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Sub questions

Question Number : 11 Question Id : 64635024198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535094979,
64535094980,
4835094981,
4535094982,
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Question Number : 12 Question Id : 64635024199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350949583, 1
E4E350949384. 2
45350949385 =2
64535024986, 4

Question Number : 13 Question Id : 64635024200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535094987, 1
64535094988, 2
645350349389, =
64535034330, 4

Question Number : 14 Question Id : 64635024201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35094991. 1
E4E35094932. 2
645350949583, 3
645350949394, 4

Question Number : 15 Question Id : 64635024202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535094995, 1
64535094996, 2
64535094997, 5
645350349395, 4

Sub-Section Number: 3
Sub-Section Id: 6463501192
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635024203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Semantic barrier of communication 1s implied when the

(1) signal is lost before reaching the receiver

(2) message transmitted by the source 1s unclear

(3) receiver's attention is diverted

(4) receiver does not understand the meaning of the message
Options:

64535094999, 1
E4E35035000. 2
E4E35035001. 3
B4535035002. 4

Question Number : 16 Question Id : 64635024203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535094999, 1
4835035000, 2
4535095001, 2
64535035002, 4

Question Number : 17 Question Id : 64635024204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following signifies non-verbal communication in an essential way?

(1) Instructions written on a question paper

(2) Learner attending an online class

(3) The dress code followed by an individual

(4) Yoga instructor teaching yoga poses to the pupils

Options:
64535035003 1

E4E35035004, 2
E4E35035005. 3
E4E35035006. 4

Question Number : 17 Question Id : 64635024204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4525095002 1

E4E35035004. 2
E4535035005. 3
B4535035006. 4



Question Number : 18 Question Id : 64635024205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asszertion (A) : Communication presupposes a shared, symbolic environment, a social
relationship even among non-participants

Reason (R): It leads to social interaction, which in combination with other factors
contributes to a sense of community.

Choose the correct option given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R is not the correct explanation of A
(3) (A) 1g true but (R) 1s false

(4) (A) 1s false but (R) is true
Options:
64635035007 1
E4E35095008. 2
452503950059 2
45235095010, 4

Question Number : 18 Question Id : 64635024205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535035007, 1
E4E35035008. 2
&4535035009. 5
64535035010, 4

Question Number : 19 Question Id : 64635024206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a stage of intrapersonal communication?

(1) Phatic stage

(2) Intimate stage

(3) Personal stage

(4) Transcendental communication

Options:
64535095011, 1

E4E35035012. 2
E4E35035013. 3
E4535035014. 4

Question Number : 19 Question Id : 64635024206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35095011. 1
E4E350395012. 2
64535035013, 3
64535035014, 4

Question Number : 20 Question Id : 64635024207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a characteristic of modern mass media?

(1) Capital intensive (2) Labour intensive
(3) Sustainable (4) Developmental
Options:

64535095015, 1
64535035016, 2
64535035017, 3
E4EZ5035015. 4



Question Number : 20 Question Id : 64635024207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350395015, 1
E4E3503501E6. 2
E4E35035017. 3
B45350350158. 4

Question Number : 21 Question Id : 64635024208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If RED 1s coded as 6720, then how would GREEN be coded?

(1) 16717209 (2) 1677209
(3) 9207716 (4) 1677199
Options:

64535095015, 1
64535035020, 2
64535035021, 3
EAE35035022. 4

Question Number : 21 Question Id : 64635024208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afg RED #1 gz wmt | 6720 foman 5@, d@t GREEN &t fora wahn geag foran smom ?

(1) 16717209 (2) 1677209
(3) 9207716 4) 1677199
Options:

645350395019, 1
E4E35095020. 2
E4E35095021. 3
BAE35035022. 4



Question Number : 22 Question Id : 64635024209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If 0.75 2 = 0.02 y, then the value of [T_x] is

Y+ X
73 75
1 = oy e
@ 75 @ T
73 730
3 —= |t
(3) = (4) 75
Options:

E4E350395023. 1
64535035024, 2
64535035025, 3
645350395026, 4

Question Number : 22 Question Id : 64635024209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3 — 7, 1 =
©) T7 @ 1D
Options:
64535095023, 1
64535035024, 2
64835035025 2
4535095026, 4

Question Number : 23 Question Id : 64635024210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the average of five numbers 18 —20 and the sum of three of the numbers 15 32, then what 1s
the average of the other two numbers?

(1) 66 (2) 33
(3 34 4 -132
Options:

64535035027, 1
E4E35035028. 2
EAE35035029. 3



EAE35035030. 4

Question Number : 23 Question Id : 64635024210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe gie STl 1 SAida —20 2, A7 FH 8§ fF et & 9 32 #, 91 999 &1 Gl # AEd 3491
27

1 66 (2) -33
@ -84 @ -132
Options:

64535035027, 1
645350395028, 2
E4E35035029. 3
E4E35035030. 4

Question Number : 24 Question Id : 64635024211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A man travelled from the village to the railway station at the rate of 20 Kmph and walked
back at the rate of 5 kmph. If the whole journey took 5 hours, find the distance of the raillway
station from the village.

(1) 10 km (2) 15km
@) 20km (4) 40 km
Options:

645350395021, 1
645350395032, 2
E4E35035033. 3
E4E35035024. 4

Question Number : 24 Question Id : 64635024211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F1E =Afqa ma & Iag €29H F A 20 kmph 81 F Far 2 au a9y 5 kmph # 20 & e 21 3@
=Y AT H 3 5 uE W 2, o M ¥ td 22w i gft wma fifsig |

(1) 10km (2 15km
(3) 20 km (4) 40 km

Options:

64535035031, 1

E4E25035032. 2

E4E25035033. 3

64535035034 4

Question Number : 25 Question Id : 64635024212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A trader mixes three varieties of refined oil costing Rs. 100, Rs. 40 and Rs. 60 per litre in the
ratio 2 : 4 : 3 in terms of litre, and sells the mixture at Rs. 66 per litre. What percentage of
profit does he make?

(1) 12% (2) 10%
(3) 9% 4) 8%
Options:

645350395035, 1
E4E35035036. 2
EAE35035037. 3
E4E350395038. 4

Question Number : 25 Question Id : 64635024212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s M 100 &., 40 & a9 60 . ufd e i ara gt 7 9wR & {iwEee ad & e & 1g |
2:4:3 Fud # e 2 A 3u feor #9166 &, ufa ofier i g & S=ar 21 30 feaq wfowa &1 amw

g1 27
(1) 12% (2 10%
(3) 9% @) 8%

Options:

64535095035, 1
64535035036, 2
64535035037, 2
E4E350350328. 4

Question Number : 26 Question Id : 64635024213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

No Musicians are Japenese
All Barbers are Musicians

No Barbers are Japenese
Identify the Middle Term in the above syllogism

(1) Subject in the first premise and predicate in the second premise
(2) Predicate in the first premise and subject in the second premise
(3) Predicate in the both premises

(4) Subject in both the premises

Options:



E4E35095029. 1
64535035040, 2
64535035041, 3
64535035042, 4

Question Number : 26 Question Id : 64635024213 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FIS TR ST 2 2 |
aaft A1 wfiaen £
F13 A8 S A 2 |
IE{F rared | "eAus 6l ugee i
(1) 92 19r a&g J Fdl A1 gt e a | a9
(2)  UEe A9R aEd i e ot gul enaw A o i
(3)  2Fi wnar aEdl d faga
(4)  @FT A19E FEEl H Fi

Options:

64535095039, 1
E4E35035040. 2
E4E35095041. =2
64535035042, 4

Question Number : 27 Question Id : 64635024214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from

(1) Unuversal to Particul ar
(2) Particular to Universal
(3) Universal to Universal

(4) Particular to Particul ar

Options:

64535035043, 1
E4E35035044, 2
E4535035045, 5
64535035046, 4



Question Number : 27 Question Id : 64635024214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HANTHATHS o (8 78 399 21 27

(1)  =ewtfEs o fafsmee
(2)  fafve o geEwims

@)  adifEe & o
(4)  fafse o fafsw

Options:
64535095043 1

E4E35095044, 2
E4E350395045. 3
E453503504E. 4

Question Number : 28 Question Id : 64635024215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the five friends, Vineet 1s taller than Momka, but not as tall as Ram. Jacob 1s taller
than Dalip but shorter than Monika. Who is the tallest in their group?

(1) Ram

(2) Monika

(3) Vineet

(4) Jacob
Options:

E4E35095047. 1
64535035048, 2
64535035049, 3
64535035050, 4

Question Number : 28 Question Id : 64635024215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e gl ¥ fada aife o aven 2 cfes o e @ AF 21 S gefiv 8 dan 2 iR Al o
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(1) ™

@ =
(3) ferdia
CV

Options:

48350395047, 1
4535095048, 2
64535035049, 5
64535035050, 4

Question Number : 29 Question Id : 64635024216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the example given below :
Devadatta i1s growing fat.
He does not eat food during the day.
Therefore, He must be eating food during the night, other things being equal.

Identify the logic invelved in the example provided above by choosing the correct answer
from options given below :

(1) Arthapatti (2) Anupalabdi
(3) Anumana (4) Sabda
Options:

E4E35095051. 1
E45350395052. 2
64535035053, 3
64535035054, 4

Question Number : 29 Question Id : 64635024216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=1 fou sgrem w foEm i

gae |l 21 @ 2|
oe fea o g 421 | 2
T,
g2 Td @l WHT |rar 20,
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(1) A4 (2) wuafey
(3)  FHA (4) =g

Options:
4235095051, 1

E4E35035052. 2
64535035053, 3
64535035054, 4

Question Number : 30 Question Id : 64635024217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :

“Sound 1s permanent because it 1s a product hike the jar”.

Identify the fallacy involved in the above argument on the basis of Indian logic from the
options given below.

(1) Fallacy of contradictory reason (2) Fallacy of wrong assertion
(3) Fallacy of irrelevant reason (4) Fallacy of trivial reason
Options:

645350395055, 1
E4E35035056. 2
E4E35035057. 3
E4E350395058. 4

Question Number : 30 Question Id : 64635024217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fi=1 fau @ o femm Hifsg
e curlt & HdifE 98 s i @E A I E,
A= w71y, forepcedi @ WA deh < SArar 9t 3udad a H [iza amean i gg=e fifs;

(1)  faame aF arer garys (2) HaE ANFE ¥ SR gayE
(3)  AWAg T B gATHN (4) q=8 9% B U
Options:

64535095055, 1
64535035056, 2
645350395057, 3
E4E35035058. 4

Sub-Section Number: 4
Sub-Section 1d: 6463501193
Question Shuffling Allowed : Yes

Question Id : 64635024218 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension

Consider the following table that shows the production of fertilizers by a company (n 10000
tonnes) during the year 2011 to 2018.

Answer the questions based on the data contained i1n the table :

Year : 2011 | 2012 | 20183 | 2014 | 2015 | 2016 | 2017 | 2018
Production of Fertilizers : 35 50 70 55 = 60 85 90
Sub questions

Question Number : 31 Question Id : 64635024219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In how many of the given yvears was the production of fertilizers more than the average
production of the given years?

€ 2 2) 8
@3 4 @ 5
Options:

E45350395059. 1
64535035060, 2



E4E35035061. 3
BAE35035062. 4

Question Number : 32 Question Id : 64635024220 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the percentage decline in the production of fertilizers from 2013 to 20147

(1)  20.4% (2) 21.4%
3)  22.6% @) 24.2%
Options:

E4E350395063. 1
64535035064, 2
64535035065, 3
64535035066, 4

Question Number : 33 Question Id : 64635024221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the approximate percentage increase in production of fertilizers in 2018 compared
to that in 20117

(1) 157% 2) 165%
(3) 177% 4) 182%
Options:

645350950687, 1
64535035068, 2
64535035069, 3
E4EZ5035070. 4

Question Number : 34 Question Id : 64635024222 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year, the percentage increase 1n production as compared to the previous vear was
maximum?

(1) 2012 (2) 2013
(3) 2015 (4) 2018
Options:

64535035071, 1
64535035072, 2
E4EZ5035073. 3
EAE35035074. 4

Question Number : 35 Question Id : 64635024223 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The average production of 2012 and 2013 was exactly equal to the average production of
which of the following pairs of vears?

(1) 2011 and 2012
(2) 2011 and 2017
(3) 2012 and 2014
(4) 2015 and 2016

Options:

64835095075, 1
E4E35035076. 2
64535035077, o
64535035078, 4

Question Id : 64635024218 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

f=fcfiga arfaen w femm Sifse, St ad 2011 - 2018 @ sfte &9 % 39 I9EA (10000 27) I g9riarn
2

ay 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

33TH FI IEA a5 50 70 55 75 60 85 90

Sub questions

Question Number : 31 Question Id : 64635024219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feu mu fera &Nt § 3R 1 3cq1eq fu o ant & e Icaed o Afeew ar?

(2 & a8
(3) 4 @ 5

Options:

64535095059, 1
64535035060, 2
64535035061, =
48350350682, 4

Question Number : 32 Question Id : 64635024220 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2013 % 2014 9% 34T F 3c9eA H Tora gfavia Trmae i ?

(1)  20.4 vfas@ (2) 21.4 gfdwE
(3) 22.6 Ffawrd (4) 24.2 yfawE

Options:

64535095063, 1
4535095064, 2
4535035065, 5
4535035066, 4

Question Number : 33 Question Id : 64635024221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 2018 <1 g1 | A 2011 § 36Tl + IeUreT | gig = wfdera s e on?

(1) 157% (2) 165%
(3) 177% (4) 182%

Options:

64535095067, 1
4835035068, 2
4535095089 2
64535035070, 4

Question Number : 34 Question Id : 64635024222 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore = 4 3carga | gfg @ ufdwd fea ara $i gamn d safteras or?

(1) 2012 (2) 2013
(3) 2015 4 2018

Options:

64535095071, 1
64535035072, 2
4835035072 2
4535095074, 4

Question Number : 35 Question Id : 64635024223 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFeferfiga awl % gra | O fror Sdd 3caed | 2012 R 2013 % iHd IemeA & faoge gam ar?

() 2011 @R 2012
(2 2011 R 2017
(3) 2012 %N 2014
4 2015 #N 2016

Options:

64535095075, 1
64535035076, 2
64535035077, 2
E4E35035078. 4

Sub-Section Number: 5
Sub-Section 1d: 6463501194
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635024224 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following :
Set I Set 11
(a) First Generation (1) Transistor
(b) Second Generation (11) VLSI microprocessor
(c) Third Generation (1) Vacuum tube
() Fourth Generation (1v) Integrated circuit

Select the correct option from the following :

(a) (b) (© (d)

(1 @) ) @ (11)
@ () (1) av) (11)
3 () (1) (1) ()
@ @ (i11) @) (i1)
Options:
64635095079, 1

E4E35035080. 2
E4E35035081. 3



EAE35035082. 4

Question Number : 36 Question Id : 64635024224 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feffiga =+ gafaa fifsw
e ol e - 10
(@ s @ glisteet
b  fedi did (i) al Ut U 15 WIS

(€ g e (iii) IHH 2
(d)  =neft figt (iv) zémfez ufdz
Ferferfiga 9 @ @& 391 1 =@A Fieo

(a) (b) ©) (d)

@ ) av) @) (1)
@ @ @ (1v) (1)
@ @) @ 1) av)
@ o (111) (1v) (1)

Options:
E4E2E095079.

E4EZ5035080,
E4E35035081.
BAE35035082,

[ N

Question Number : 37 Question Id : 64635024225 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
One TeraByte (TB) of memory is equal to

(1) 1024 KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x 1024 KB
4) 1024 x 1024 x 1024 Bytes

Options:



E4E35095083. 1
64535035084, 2
64535035085, 3
645350350586, 4

Question Number : 37 Question Id : 64635024225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U aEEe (TB) 99 feas aqH 27

(1) 1024KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x1024 KB
(4 1024 x 1024 %1024 Bytes

Options:
45250950583 1

E4E35035084. 2
E4E35095085. 3
E4E535035086. 4

Question Number : 38 Question Id : 64635024226 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A/An 18 a computer program that spreads by inserting copies of itgelf into other
executable code or documents.

(1) Operating System (2) Computer Virus
(3) Firewall (4 Anti-virus
Options:

EAE35095087. 1
64535035088, 2
64535035085, 3
64535035030, 4

Question Number : 38 Question Id : 64635024226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U L U 2 Sl ST Yol AU w0 wie J Al sfafafiat sasniia w1
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(3)  wELHEA 4) uf amE



Options:

64535095087, 1
64835035088, 2
E4E35095089. 2
64535035090, 4

Question Number : 39 Question Id : 64635024227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Audio and Video compression, the term RGE means

(1) Red, Grey, Blue (2) Red, Green, Blue
(3) Red, Green, Black (4) Red, Grey, Black
Options:

645350350391, 1
645350395032, 2
E4E350350393. 3
E4E35035094. 4

Question Number : 39 Question Id : 64635024227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Atz «dh difzdr Fvw & ROB 1 wAfiuy 2

(1) &, 4, s (2) &, ¥H,sq
(3) g, i1, =iF 4) g, 7, =i

Options:

&4535095091. 1
64535035092, 2
64535035093, =
64535035094, 4

Question Number : 40 Question Id : 64635024228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s not a’an web browser?

(1) Internet Explorer (2) Mozilla Firefox
(3) (Google chrome (4) Yahoo
Options:

E4E35035085. 1
E4E350350396. 2
E4E35035097. 3



E4E350350398. 4

Question Number : 40 Question Id : 64635024228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F=fafiaa | 9+ a9 J1Een A8 27
(1) 326z = (2) HIRTAT $PR FiaE
(3) T B @ IR

Options:

64535095095, 1
64535035096, 2
64535035097, 2
E4E350350398. 4

Question Number : 41 Question Id : 64635024229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for generating power from wind energy by the vear
2022 is

(1) 60 GW (2) HB0GW
(3) 40 GW 4) 15GW
Options:

B45350950845. 1
64535035100, 2
645350395101, 3
E4E350395102. 4

Question Number : 41 Question Id : 64635024229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 2022 a4 95 Fo01 U foeTel 3001 F1 % ol Ui 50RE A 9491 aey Haifia frar 27

(1) 60 GW (2) 50GW
(3) 40 GW @) 15GW

Options:

4535095099, 1
64535035100, 2
64535035101, =
64535035102, 4

Question Number : 42 Question Id : 64635024230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which pollutant i1s the major source of marine pollution?

(1) Agricultural run-off
(2) Oil spill

(3) Industrial waste water
(4) Sewage

Options:

64535095103 1
64535035104, 2
64535035105, =
64535035106, 4

Question Number : 42 Question Id : 64635024230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TN TG TG SET ] HelH ST Hi 27
1)  FN AvEE

2 9 fmE

(3)  lenfies s S

4)  dHes

Options:

64535095103, 1
64835035104, 2
E4E35095105. 2
64535035106, 4

Question Number : 43 Question Id : 64635024231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Permafrost 1s defiming characteristic of which biome?

(1)  Taiga (2) Tundra
(3) Grassland (4) Desert
Options:

E4535095107. 1
64535095108, 2
64535035109, 3
64535095110, 4

Question Number : 43 Question Id : 64635024231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

eI fopm arg <6 fasian <1 saman 27
(1) &m @) T
(3) = % HgH (4) TSR

Options:

4535095107, 1
64535035108, 2
64535035109, =
64535035110, 4

Question Number : 44 Question Id : 64635024232 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The mangroves exist in

(1) Fresh water system (2) Temperate areas
(3) Semi-arid areas (4) Saline waters
Options:

E4E535095111. 1
E4E35095112. 2
E4535095113. 3
64535095114, 4

Question Number : 44 Question Id : 64635024232 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fed aEdTd FaEl Hadt 27
(1)  are S gomedt (2) HamET
@) ALY AT (4) @ S

Options:

64635095111, 1
64535035112, 2
64535035113 =
64835095114 4

Question Number : 45 Question Id : 64635024233 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chemical oxygen demand in eutrophic water is

(1) Low
(2) High
(3) Medium

(4) Extremely low

Options:

64635095115, 1
648350395116, 2
64535035117, 5
645350395118, 4

Question Number : 45 Question Id : 64635024233 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Perfeer Sict | Ffbepar waradts <l | St 2-

1 =

(2) I

(3) HETH

(4)  felopet HH

Options:

64635095115, 1
648350395116, 2
64535035117, 5
645350395118, 4

Question Number : 46 Question Id : 64635024234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which era given below, ligher education in India got a set back?

(1) British Era (2) Buddhist Era
(3) Mughal Era (4) Post-Independence Era
Options:

64535095119, 1
E4E35095120. 2
E4535095121. 3
BAE35095122. 4



Question Number : 46 Question Id : 64635024234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= feu U e i | W | R 0 geR e
(1)  fafen == (2) @ig
3) g FA (4) EETEA HA

Options:
452509511591

E4E35095120. 2
E4535095121. 3
BAE35095122. 4

Question Number : 47 Question Id : 64635024235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which year the modern Indian University got established?

(1) 1957 (2) 1857
(3) 1947 4) 1964
Options:

645350951221
E4E35095124. 2
E4E35095125. 3
BAE35095126. 4

Question Number : 47 Question Id : 64635024235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g widl feafearra € e fee o | 237

(1) 1957 (2y 1857
(3) 1947 4) 1964
Options:

64535095123, 1
645350395124, 2
645350395125 3
E4E35039512E6. 4

Question Number : 48 Question Id : 64635024236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The report of which of the following Education Commissions carries the sub-title Education
for National Development’?

(1) Radhakrishnan Commission
(2) Mudaliar Commission
(3) Calcutta University Education Commission
(4) Kothart Commission
Options:
646350951271
64635095125, 2

645350395129, 3
645350395130, 4

Question Number : 48 Question Id : 64635024236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafaa @ & T foem s 6t § swis e famm & fou far g mran?
(1)  TIEFH SATE
2)  wefeEm s
(3)  waIwl favaiageE g Ame
4)  FIBR A

Options:
E4E35035127.

E4E3509512E.
E4E35095129.
E4E35095130.

[ N

Question Number : 49 Question Id : 64635024237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The expansion of SANKALP 1s,

(1) Sanskrit Awareness and Knowledge Acquisition of Language Programme
(2) Skills Acquisition and Karatae Awareness for Livelithood Promotion

(3) Skills Acquisition and Knowledge Awareness for Livelihood Promotion

(4) Sanskrit Awareness and Knowledge Acquisition for Livelihood Promotion

Options:

64535095131, 1
64535035132 2
648350395122 2
4535095124 4



Question Number : 49 Question Id : 64635024237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SANKALP I fa%ar 2
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Options:

4635095151, 1
64535035132 2
64535035133 2
64535035134 4

Question Number : 50 Question Id : 64635024238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements best explains the concept of sustainable development?

(1) Use of natural resources minimally
(2) Use of natural resources for our benefit
(3) Use of natural resources judiciously o that they are available for future generations
(4) Preserve our natural resources for our future generation
Options:

E4E35095135. 1
E4E350395136. 2
E4535095137. 3
64535095138, 4

Question Number : 50 Question Id : 64635024238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535095135, 1
64835035136 2
4535095127, 2
645350325128, 4

PART 11 Adult Education

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

646350492
2

Online
Mandatory
92

92

200

Yes

No

1
6463501195
Yes

Question Number : 51 Question Id : 64635024239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The basic concept of Andragogy is

1. arts and science of helping adults to learn
2. arts and science of helping adults to live
3.  arts and science of helping children to learn
4. arts and science of helping children to work
Options:
64635095139, 1
64635095140, 2



E4E35095141. 3
64535095142, 4

Question Number : 51 Question Id : 64635024239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4835095139, 1
E4E35095140. 2
64535035141, 5
645350395142 4

Question Number : 52 Question Id : 64635024240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who said illiteracy 1s a curse 1n our country?

| Jawaharlal Nehm
2. Mahatma Gandhi

3. Swami Vivekananda

4. Rabindranath Tagore
Options:
64635095143, 1
64635095144, 2
64635095145, 3
64635095146, 4

Question Number : 52 Question Id : 64635024240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535095143, 1
64535035144 2
648350395145 =2
4535095146 4

Question Number : 53 Question Id : 64635024241 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the context of research NSS stands for
1. National Service Scheme
2. Nafional Social Service
3.  National Social Survey

4. Nabonal Sample Survey

Options:

64535095147, 1
64535035148, 2
64535035149 =
64835095150 4

Question Number : 53 Question Id : 64635024241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MY S Yoo H 09, 09, 09, T I &
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Options:



E4E35095147. 1
645350395148, 2
64535095145, 3
64535035150, 4

Question Number : 54 Question Id : 64635024242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which one of the following comes under online education?
1. Adultliteracy
2. MOOC
3. On-the-job training

4. Teacher fraining

Options:

4835095151, 1
E4E35095152. 2
64535035152,
64535035154, 4

Question Number : 54 Question Id : 64635024242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535095151, 1
648350395152 2
E4E35095152 =2
64535035154, 4

Question Number : 55 Question Id : 64635024243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s an NGO?

1. RMK

2: NIPCED
3. NLM

4. SEWA

Options:

4635095155, 1
64535035156, 2
64535035157, =
64535035158, 4

Question Number : 55 Question Id : 64635024243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

c4eE=ZE035155 1

CAS2ZE0395 158 2

CAE2E095157. 2

LAEZE095158. 4

Question Number : 56 Question Id : 64635024244 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

C4D stands for
1. Communication for Development
2. Communication 4 Devise
3. Concept and Devise

4. Control for Development

Options:
64535035159 1



E4E350395160. 2
64535095161, 3
64535095162, 4

Question Number : 56 Question Id : 64635024244 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
64535095159 1

E4E350395160. 2
E4E35095161. 3
B4E535039516%. 4

Question Number : 57 Question Id : 64635024245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which is the people’s organization in the context of social development?

1. Umnversity
2. Commumnty-based NGO
3. College

4. Techmcal Institute

Options:

64535095163, 1
64535095164, 2
64535035165, o
64535035166, 4

Question Number : 57 Question Id : 64635024245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535095163, 1
64535035164, 2
64835035165 =2
4535095166, 4

Question Number : 58 Question Id : 64635024246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Eight stages of human development were proposed by
1. Mc Peak
2. Enk Enkson

3. McCary

4. Jean Piaget
Options:
E4535035167. 1
64535035168 2
64635035169 2
64535095170, 4

Question Number : 58 Question Id : 64635024246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E4E35095167. 1
64535095168, 2
645350951645, 3
645350395170, 4

Question Number : 59 Question Id : 64635024247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
How many skill sectors are identified by the Government of India for bringing
economic growth of the country?

1. 10
z 15
3. 20
4. 25

Options:

64535095171, 1
4835035172 2
4535095172 2
64535095174, 4

Question Number : 59 Question Id : 64635024247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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. 10

2 15

3. 20

Options:

64535095171, 1
64535035172 2
648350395172 2
4535095174 4

Question Number : 60 Question Id : 64635024248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



NSQF stands for
1. National Skill Quality Forum
2. National Skll Quality Fora
3. Nahonal Skills Qualifications Framework

4. National Skill Qualification Foundation

Options:

64535095175, 1
64535035176, 2
E4E350395177. 2
64535095173, 4

Question Number : 60 Question Id : 64635024248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

64535095175, 1
64535035176, 2
64535035177, 2
E4E350395178. 4

Question Number : 61 Question Id : 64635024249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The correct expansion of PPP is
1.  Public-Partnership Programme
2. Public-Pnivate Partnerships
3.  Programme for Public Participation

4. Private and Public Programme

Options:
64535095179, 1



E4E350395180. 2
64535095181, 3
64535095182, 4

Question Number : 61 Question Id : 64635024249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
E4E35095179. 1

E4E35095180. 2
E4E35095181. 2
B4E53509518%2. 4

Question Number : 62 Question Id : 64635024250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The process of evaluation in any social development programme consists of

1. formative evaluation
2. nput-process-output evaluation
3. summative evaluation

4. post evaluation
Options:
64635095183, 1
64635095184, 2
64635095185, 3
64635095186, 4

Question Number : 62 Question Id : 64635024250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. wvTes genes
2. 3Ta-vikar-fia qeaee
3.  Hoadde Jedien
4. IUd HAISHA
Options:
64535095183, 1
64535035184, 2

645350395185, 3
645350395186, 4

Question Number : 63 Question Id : 64635024251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Modemn communication technology driven in the recent context of adult and lifelong
learnming 1s

1. traditional commumcation technology
2. mass commumnication

3. information commumcation technology
4. nonverbal communication

Options:
E4E35035157. 1

E4E350395188. 2
E4E35095189. 3
E4E350951390. 4

Question Number : 63 Question Id : 64635024251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535095187, 1
648350395188 2
45350951289 2
64535035190, 4

Question Number : 64 Question Id : 64635024252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Staff training consists of
1.  orentation and refresher traimng

2. orentation traiming
3. on-the-job training

4. post training

Options:

4535095191, 1
64535035192, 2
64535035193 =
64535035194, 4

Question Number : 64 Question Id : 64635024252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350951491, 1
64535035192, 2
64535035192,
64535035194, 4

Question Number : 65 Question Id : 64635024253 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which 1s the best way of motivating the adult learners?
1. External motivation
2. Financial motivation
3.  Intrinsic motivation

4.  Internal motivation

Options:
453503951465, 1

E4E350395196. 2
E4E3503951397. 3
E4E35095198. 4

Question Number : 65 Question Id : 64635024253 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535095195, 1
E4E350395196. 2
64535035197, 5
64535035198, 4

Question Number : 66 Question Id : 64635024254 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
National Extension Service (NES) programme was launched on
1. 2" October, 1953
2. 2™ October, 1963
3. 2™ October, 1973

4. 2™ Qctober, 1983

Options:



E4E350951959. 1
64535035200, 2
64535095201, 3
645350395202, 4

Question Number : 66 Question Id : 64635024254 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TP TR 1 (@, 3. TH) SHGH 3 EIHTT Fa g3 U
1. 2 3SR, 1953
2. 2 ISR, 1963
3. 2 3EER, 1973
4. 2 3EER, 1983

Options:

64535095199, 1
64535035200, 2
64535035201, =
64535035202, 4

Question Number : 67 Question Id : 64635024255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following programmes is linked to rural functional literacy programme?

1.  Gram Shikshan Mohim
2. National Adult Education Programme
3.  Nonformal Education Programme

4. Functional Literacy for Adult Women

Options:
E4E35095203. 1

E4E35035204. 2
E4E350395205. 3
BA535035206. 4

Question Number : 67 Question Id : 64635024255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535095203, 1
64535035204, 2
64835035205 2
4535095206, 4

Question Number : 68 Question Id : 64635024256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is the benefit of mobile learning?
1.  Continuous and situated learming support
2.  Remote access to knowledge
3. Multimedia content delivery and creator options

4.  Potentially nonrewarding learning experience

Options:

64835095207, 1
4535095208, 2
64535035209, 5
64535035210 4

Question Number : 68 Question Id : 64635024256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535095207, 1
64835035208, 2
E4E35095209. 2
64535035210, 4

Question Number : 69 Question Id : 64635024257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The proponent of Andragogy is
1.  Mahatma Gandhi
2. Jawaharlal Nehru
3. M. Knowles

4. Sardar Vallabhbhai Patel

Options:

64535095211, 1
64835035212 2
4535095212 2
64535035214, 4

Question Number : 69 Question Id : 64635024257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TSI & vidues €
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Options:

64535095211, 1
64535035212 2
64835035212 2
4535095214 4

Question Number : 70 Question Id : 64635024258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Faure Report (1972) that sought the institufionalization of the concept of lifelong
learning 1s

1. learning to be
2. learming to know
3. learnming to do

4. learning together
Options:
64635095215, 1
64635095216, 2
64635095217, 3
64635095218, 4

Question Number : 70 Question Id : 64635024258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
B O (1972), o & g ud=g Siftnm 31 S[YROT St TUTT=T ST Iedl 8, HH-4
22
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Options:
64535095215 1

E4E35035216. 2
E4E35035217. 3
B4E5350952158. 4

Question Number : 71 Question Id : 64635024259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The report which emphasised the linking of retraining and learning multiskills enabling
the individuals to cope with the demands of the rapidly changing workplace is

1. Delors Report
2.  Education Report

3.  Faure Report
4.  CONFINTEA VI

Options:
4350395219, 1

EAE35095220. 2
EAE35095221. 3
BAEZIS095222. 4

Question Number : 71 Question Id : 64635024259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535095219, 1
4535095220 2
64535035221, 5
64535035222 4

Question Number : 72 Question Id : 64635024260 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The rejection of a null hypothesis tends fo the acceptance of a
1. alternate hypothesis
2. two-tailed hypothesis
3.  one-tailed hypothesis

4.  positive hypothesis

Options:
435095223 1

EAE35095224. 2
EAE350395225. 3
BAE35095226. 4

Question Number : 72 Question Id : 64635024260 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4635095223, 1
64535035224, 2
64535035225 2
64535035226, 4

Question Number : 73 Question Id : 64635024261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who said that the chi-square test represents a useful method of comparing
experimentally obtained results with those to be expected theoretically on some
hypothesis?

1.  Garret
2. Siegel
3.  Fisher
4. Reber

Options:

64835095227, 1
E4E35095228. 2
64535035229, 5
64535035220 4

Question Number : 73 Question Id : 64635024261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535095227, 1
64535035228, 2
64535035229, 2
E4E35035220. 4

Question Number : 74 Question Id : 64635024262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is NOT a measure of variability?
1.  Standard deviation
2.  Mode
3. Quartile deviation

4. Average deviation
Options:
64635095231, 1
64635095232, 2
64635095233, 3
64635095234, 4

Question Number : 74 Question Id : 64635024262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. A7 fage
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Options:

645350395231, 1
E4E35035232. 2
EAE350395233. 3
EAE35095234. 4

Question Number : 75 Question Id : 64635024263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following is NOT the formula of standard deviation?

[

1 +x
' N
5 X

N
N L
N

h.j_

2
¥4 x'? 2+ x
N N
Options:

C4E25095255 1
CAEZE095235E. 2
EAEZEQ9EZET. 2
E4EZE09525H. 4

Question Number : 75 Question Id : 64635024263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fofafed § 9 F-91 aFe 9 &1 93 T8 87

| T4t

‘ N
i Z+x

N
3.
4+ [E-}—x')g
4. i —
N N

Options:

64535095235, 1
64535035236, 2
E4E35035227. 2
E4E35095228. 4



Question Number : 76 Question Id : 64635024264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An absolute or true zero point is used in

e nominal scale

& ordinal scale
3. internal scale

4, ratioscale

Options:

64535095239, 1
64535035240, 2
64535035241, =
64535035242 4

Question Number : 76 Question Id : 64635024264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Te FRUy a1 arafle I fawg fofafea & § e vgea gran 82

1. if#e |
2. HHYIS HIY
3. el "I
4. U =G

Options:

64535095239, 1
64535035240, 2
64535035241, =
E4E35035242 4

Question Number : 77 Question Id : 64635024265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Suppose that you are sampling minth grade youngsters for research purposes. There are
250 mnth graders in the school system. What 1s the probability of selecting any

youngster?

Options:

4535095243, 1
64535035244 2
64535035245 =
64535035246, 4

Question Number : 77 Question Id : 64635024265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A i 3T Ty vareE 3 Fidl a3 SR o1 viamas o @ 8| feaa voredt § St
e | 250 fed 81 5t faiR & 99 o9 @t Fre=n et 82

g
250
5 L
130
5
240
1
4, —
200

Options:

64535095243, 1
64535035244, 2
64535035245 o



EAE35095246. 4

Question Number : 78 Question Id : 64635024266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is the source of collecting secondary data?
1. Interview
2. Questionnaire
3.  Observation

4. Published data
Options:
64635095247 1
4635095245, 2
4635095249 3
6435095250 4

Question Number : 78 Question Id : 64635024266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafeied A 9 fRdiue sies Ted $37 &1 Jid H15-91 87

. HISER

2. UamEd

3. 3

4. W 3ies

Options:

64535095247, 1
E4E35035248. 2
64535095249, 5
64535035250 4

Question Number : 79 Question Id : 64635024267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is a source of secondary data?
1. Review study method
2. Schedule
3.  Observation

4. Expenimental method
Options:
645350352511
64535095252 2
64535095252, 3
64535095254 4

Question Number : 79 Question Id : 64635024267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fafafaa 7 2 fRdae sies! &1 9 oH-91 87
1. HiE e fafy

2. oy
3. oadeH
4. vEAHES Al

Options:

64535095251, 1
64535035252 2
64535035253 2
64535035254 4

Question Number : 80 Question Id : 64635024268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Main types of probability sampling are
(a) Simple random sampling
(b) Stratified random sampling
(c
(d) Purposive sampling

N

Cluster sampling

Select the most suitable option :

1. (a), (b)and(c)
2. (¢)and(d)
3. (b)and(c)
4. (a)and (b)

Options:

64835095255, 1
E4E35095256. 2
64535035257, 5
64535035258, 4

Question Number : 80 Question Id : 64635024268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T Wierre & I UoR &
(a) WD AR viaaas
(b) TR IS wagaT

(c) HHg vid=a

(d) YARFHHAS Hfaad
Haffie I9ged fased g -
L (@), (0) 3R ()

2. (o) 3R (d)

3. (b) 3R (c)

4. (2 9R )

Options:

64535095255, 1
E4E35095256. 2
E4E35095257. 2
64535035258, 4

Question Number : 81 Question Id : 64635024269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Interview is a source of

1.  pnmary data
2. secondary data
3.  published data

4. unpublished data
Options:
64635095259, 1
64635095260, 2
64635095261, 3
64635095262, 4

Question Number : 81 Question Id : 64635024269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

TP Fofeiad # ¥ g Jig 22
1. U siee
2. fedios sifes
3. UeIRd sies
4. AUSIAT sfiFe
Options:

E4E35095259. 1
BAE535035260. 2
645350395261, 3
E4535095262. 4

Question Number : 82 Question Id : 64635024270 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The symbol of class interval size is

I &
2 K
3 1

4 p

Options:

4535095263, 1
64535035264, 2
64535035265, o
64535035266, 4

Question Number : 82 Question Id : 64635024270 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



EAE35095263. 1
EAE35095264. 2
B4E5350395265. 3
64535035266, 4

Question Number : 83 Question Id : 64635024271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Action research comprises of how many components?

I. Three
2. Fouwr
3. Two
4. One

Options:

64835095267, 1
E4E35095268. 2
64535035269, o
64535035270, 4

Question Number : 83 Question Id : 64635024271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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-2

¥ b9

3. TUCH

Options:

64535095267, 1
64535035268, 2
E4E350395269. 2
64535035270, 4

Question Number : 84 Question Id : 64635024272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In India, University extension gained momentum with the establishment of
1.  State Open Universities
2. State Agncultural Unmversities
3. State Health Universities

4. State Techmcal Universities
Options:
£4635095271. 1
64635095272, 2
£4635095273. 3
£4635095274. 4

Question Number : 84 Question Id : 64635024272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

YRa | fayfaenaa wR &1 Fofafed 8 9 eaet R & iy Tl md g2
. S0 Yo fayieeea
2. U it fayiaeea
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Options:

64835095271, 1
E4E35095272. 2
645350352732,
4535035274, 4

Question Number : 85 Question Id : 64635024273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UDAAN is a project launched by

1. NCERT
2.  NIEPA
3. IGNOU
4. CBSE

Options:



EAE35095275. 1
BAE35095276. 2
BAE35095277. 3
645350395278, 4

Question Number : 85 Question Id : 64635024273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e FofafEd # 9 feds gR1 uRY &t 718 uide g2
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2. TIRIUT
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4, W& T

Options:
E4E2E095275. 1

EAE35095276. 2
BAE35095277. 3
BAE35095278. 4

Question Number : 86 Question Id : 64635024274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the following extension programmes of India in chronological order :

(a) District Primary Education Programme
(b) National Rural Employment Programme
(¢) Community Development Programme
(d) National Family Welfare Programme

Select the correct option :

L. (a), (b),(c), (d)
2. (d),(e). (b, (a)
3. (a),(b),(d), (¢
4. (b),(c) (@), (@

Options:
64535095279, 1



EAE35035280. 2
64535095281, 3
BAE3509528%. 4

Question Number : 86 Question Id : 64635024274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

YR H IR & Fofafea sriwdl o Fra-sHHaR FarRg &1
(a) foren mufae Rren sdea
(b) TSI ATHiET ISR HTimH
(¢) TG e HHmd
(d) P IRaR F HRHH
o e ghT
L. (a), (b), (), (d
2. (d),(0), (b, (@)
3. (a), (b).(d) (¢)
4. (b),(e), (a), (d)

Options:

64535095279, 1
64535035280, 2
648350395281, =2
E4E35095282. 4

Question Number : 87 Question Id : 64635024275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following programmes in order they were launched :
(a) Nonformal Education
(b) National Literacy Mission
(¢) Dastrict Pnmary Education Programme
(d) Sarva Shiksha Abhivans

Select the correct option :

L. (a), (), (), (d)
2. (b),(c)(a), (d
3. (a),(c), (d), (b)
4. (e), (d),(a), (b)

Options:

64535095283, 1
E4E35035284. 2
E4E35095285. 2
64535035286, 4

Question Number : 87 Question Id : 64635024275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFofaied sl o1 390 URY 6T o & % | Jafeud &
(a) A= e
(b) U seRa fa=
(¢) Torem mufire Ruen sdsy
(d) I Rren A
TEl Ao g+ -
1. (@), ®), (), (d
2. (b),(c),(a),(d)
3. (a),(0), (@), ®
4. (o), (. (a), ®)

Options:

E4E35095253. 1
64535035284, 2
64535035285, o
64535035286, 4

Question Number : 88 Question Id : 64635024276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the strategies adopted for bringing education at the doorsteps of learner
chronologically :

(a) Distance Education

(b)  School Education

(¢) Online Education

(d) Higher Education

Select the most suitable option :
1. (a)and (b)only

2. (a), (b)and (c) only

3. (a)and(c¢) only

4. (a), (b), (c)and (d)

Options:

64535095287, 1
E4E35035288. 2
E4E35095289. 2
64535035290, 4

Question Number : 88 Question Id : 64635024276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) o= fRiam

(b) TermeT fRuan

(c) ofi-wms fRren

(d) T=Ren
aiie Iuged fded g ;
L. (a) 3R (b)

2. (), B (o)

3. (@) 3 ()

4. (a), (b), (¢) AR (@)

Options:
E4E35095257.

EAE3S09528E.
EAE35095289.
BAE35095230.

[ R

Question Number : 89 Question Id : 64635024277 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following characteristics of extension education according to their
significance :

(a) Participation is voluntary

(by Fixed curriculum

(¢) Teaching 1s mainly horizontal
(d) Heterogeneous audience

Select the most suitable option :

L. (a), (0),(c), (d)
2. (a)(c) (d), (b)
3. (a), (b))
4. (a), (b).(d)

Options:

64535095291, 1
64835035292 2
E4E35095292. 2
64535095294, 4

Question Number : 89 Question Id : 64635024277 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



faR e o1 Frofeied Rvdisl &1 376 7w & SEaR Jared o -

Options:

(a) WieR) Wies 8

b  Fufia ureraaf

(c) AT gord: FHeR 8
(d) RS e
Taiiie Iugad fAeed gi-u

1. (), (b), (c), (@

2. (a), (c), (D), (b)

3. (a), (D), ()

4. (a), (), (d

64535095291, 1
E4E350952582. 2
EAE3503952593. 3
B4535095254. 4

Question Number : 90 Question Id : 64635024278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is the correct sequence in the principles of management?

1.

2.

Options:

Planning, implementing, orgamzing and controlling
Planning, orgamzing, controlling and implementing
Planning, orgamzing, implementing and controlling

Planning, controlling, organizing and implementing

B4535095255. 1
64535035236, 2
64535035237, 3
EAE35095259E. 4

Question Number : 90 Question Id : 64635024278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

vae & FIGidl o1 98! HH SH-91 87
1. e, swataes, 91e SR s
2. FreE, 9eE, P R Sataas
3. faeE, 9eH, sataa ek e
4. e, Fras, 9e SR SataaT

Options:

4535095295, 1
64535035296, 2
64535035297, 2
64535035298, 4

Question Number : 91 Question Id : 64635024279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1s the correct sequence on curriculum planning in adult and contimung education?
1.  Objective, content, teaching methods and outcomes
2. Content, objective, teaching methods and outcomes

3.  Objective, teaching methods, content and outcomes

4. Objective, outcomes, content and teaching methods
Options:
64635095299, 1
64635095300, 2
64635095301, 3
64635095302, 4

Question Number : 91 Question Id : 64635024279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T 3R Tad e & ure=ai (e o1 98 %9 HiF-91 27
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2. fToawoasg IT=d, o AT SR uivomm
3. 3E, v it Avdawg ok uiomm
4. 3Eg, uivomy, favaasg e sreu= faftar

Options:
4350352499, 1

E4E35035300. 2
E4E3503952301. 3
E4E350952302. 4

Question Number : 92 Question Id : 64635024280 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following steps in the extension research in sequential order :
(a) Research problem
(b)  Hypothesis
(¢)y Methodology
(d) Research report

Select the correct option :
1. (&), (b), (c)and (d)
2. (d),(c),(b) and (a)
3. () (0) (b)and (d)
4. (b), (a),(d), and (c)

Options:

4535095203, 1
64535035204, 2
64535035305, =
64535035306, 4

Question Number : 92 Question Id : 64635024280 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(@) =Y qEWT
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(¢) TSI
(@ =y RO
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. (), (b),(c) 3R (d)
2. (d),(c), (b) R (a)

3. (a), (¢), (b) 3R (d)
4. (b), (a), (d), 3R ()

Options:
4235095303, 1

E4E350395204. 2
645350395205, 3
64535035206, 4

Question Number : 93 Question Id : 64635024281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which are the types of research according to Edward and Chronbach?
(a) Survey research
(b) Techmcal research
(c) Applied research
(d) Critical research
Select the most suitable option :
1. (a)and (c) only
2. (b)and (d) only
3.  (d)and(c)only
4. (a), (b), (c)and (d)

Options:

64535095207, 1
64535035308, 2
645350352309, 2
E4E350395210. 4

Question Number : 93 Question Id : 64635024281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) AU Y

(b) ool Y

() TG Y

(d) wEwuo My
gafiie Iuged [deed g-u -
. &ad (a) 3R (c)
2. %ad (b) 3R (d)
3. &ad (d) #R (o)

4. (), (), (c) 3R (d)

Options:
E4E35095307.

45350395208,
E45350395209,
64535095210,

e LI M

Question Number : 94 Question Id : 64635024282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following measures of vanability 1in sequence :

(a) Standard deviation
(b) Range
(¢) Quartile deviation
(d) Average deviation
Select the correct option :
1. (0),(d), (¢c) and (a)
2. (b),(c),(d)and (a)
3. (d),(c),(b) and (a)
4. (d), (®), (¢) and (a)

Options:

64635095311, 1

64635095312, 2

64535035213, 3
645350395214, 4

Question Number : 94 Question Id : 64635024282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) HF® A=
(b) W
(¢) dIgde fAge
(d) oigd Ees
T8} e gfiu
L. (B), (@), (c) 3R (a)
2. (b),(c), (d) 3R (a)
3. (d),(c), (b) 3R (a)
4. (d), ), (©) 3R (@)

Options:

C45325095=211. 1

CAE2E095312. 2

L4E2E095313 2

L4E2E0952314 4

Question Number

1 95 Question Id : 64635024283 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



Which are the methods for controlling of relevant variables?
(a) Matching
(b) Randormmzation
(¢) Counter balancing
(d) Probability
Select the correct option :
1. (a), (b)and (c)
2. (a),(b),(c)and (d)
3. (b),(c)and (d)
4. (a), (d)and(c)

Options:

64535095215, 1
E4E35095216. 2
64535035217, 5
64535035218, 4

Question Number : 95 Question Id : 64635024283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
642350953515, 1

E4E35095216. 2
64535035217, 3
64535095218, 4

Question Number : 96 Question Id : 64635024284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Sexual Harassment of Women at Workplace Act 2013 is to protect violation of the
which fundamental rights of a citizen—

(a) the right of equality under Article 15

(b) the night to live with cigmty, Article 21

(¢) the right to engage in a profession, Article 19
(d) the right to education

Select the most suitable option :

1. (a), (b),(c)and (d)

2. (a), (b)and(c)

3. (b),(c)and(d)

4. (a),(d)and(c)

Options:

4835095219, 1
E4E35095220. 2
64535095221, 5
64535035322, 4

Question Number : 96 Question Id : 64635024284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



s W) ARl &1 99 e sfafag 2013 Fufafaa § 9 amfiet & &7 afte
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(a) TS 15 B ATTId FHFA BT HABR

(b) TG 21 F Id oita 3R FE1 1 SieR

(6) TS 19 F i et sraama § Faifm 2 @1 3ififer
(d) e 1 iR

e Iuged e g+ :

1. (&), (b),(c) 3R (d)

2. (a), (b) 3R (c)

3. (b), () MR ()

4. (a), (d) MR ()

Options:

64535095219, 1
E4E35035320. 2
64535095221, 5
64535035322, 4

Question Number : 97 Question Id : 64635024285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which are the qualities of quantitative research?
(a) Participatory
(b) Target oriented
(¢) Understanding the context
(dy Responses

Select the most appropriate option :

. (b)and (c)
2. (a),(b),(c)and (d)
3. (a)and(d)
4. (c)and (d)
Options:

645350395323, 1
645350395324, 2
E4E35035325. 3
EAE35095326. 4

Question Number : 97 Question Id : 64635024285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) WG
(b) wedrgE!
(¢) HeH =t gam
(d) wiafdan
Tatii® Iuged e g
I (b) 3R ()
2. (a), (b). (c) M (d)
3. (@) 3R @)
4. (o) R (d)
Options:

E4E35095323. 1
64535095324, 2
64535035325, 3
64535095326, 4

Question Number : 98 Question Id : 64635024286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The National Institute of Open Schooling conducts
(a) only primary courses
(b) courses from primary to higher secondary
(c) wvocational courses

(d) only secondary courses

Select the correct option :
1. (a)only

2.  (b)and (c)

3. (c)only

4. (¢)and (d)

Options:

64535095327, 1
64535035328, 2
64535035329, 2
4535095220 4

Question Number : 98 Question Id : 64635024286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Mt ot e S afufea ® 9 S-a/3 Tty g 8
(a) Sad MUHS TSTHH
(b) vTuii® T T=w UsTHH
(¢) TANHEIND USdsmH
(d) SHad aIHHS USaHH

oe! R gf -
1. &ad (a)
2. (B3R
3. Fad (c)
4. () 3R (d)

Options:

64535095327, 1
64535035328, 2
64535035329, 2
4535095220 4

Question Number : 99 Question Id : 64635024287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The principal functions of a continuing education 1s to provide
(a) learmng centre
(b) traimng centre
(¢) cultural centre
(d) sports centre
Select the most appropriate option :
1. (a), (b)and(c)
2. (a), (b}, (¢)and (d)
3. (b),(c)and (d)
4. (a)and (b)

Options:

48350953311
E4E35095232. 2
E4535035222. 5
645350352324, 4

Question Number : 99 Question Id : 64635024287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tad e & Ha verd Fafaf@a § & e gga s d?
(a) offmH &g
(b) wiRrer B
(6) WP &5
() WARTFZ
T4 Suged e g -
1. (), (®) 3R (c)
2. (a), (b), (o) 3R (@)
3. (), (e) 3R (d)
4. (a) 3R (b)

Options:

64535095331, 1
64535035332 2
64535035333 2
E4E35095224 4

Question Number : 100 Question Id : 64635024288 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which are the libraries for providing services to the users under continuing education?

(a) Academic library
(b) Special library
(¢) Public hibrary
(d) Scientific hibrary
Select the correct option :
1. (a), (b)and(c)
2. (a), (dyand(b)
3. (b),(c)and(d)
4. (d), (b)and (c)

Options:

64635095335, 1

64635095336, 2

EdEZ50353537. 3
E4B25035358. 4

Question Number : 100 Question Id : 64635024288 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



i fRref & Sreia vaiadisi &1 JaTl ¢ a1 U] B8 87
(a) SBEHS THIaTed

(b) A=Y y=eEg

(¢) Ve~ ol
(d) e T
T e 7R

1. (@), ) 3R ()
2. (a), (@3N
3. (b, (e) 3R (d)
4. (d),(b) 3 (c)

Options:

64535095335, 1
64535035336, 2
64535035337, 2
4535095228 4

Question Number : 101 Question Id : 64635024289 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following Non-Governmental Orgamsations offer lifelong education
institutionally?

(a) Nirantar

(by Bharat Gyan Vigyan Samiti
(c) SEWA

(dy Kerala Gyan Vigyan Sarmiti
Select the most suitable option :

I.  (a), (b), (¢)and (d)

2. (¢)and (d)
3.  (d),(b)and (¢
4. (b) only

Options:
42350953539, 1

E4E350952340. 2
64535095241, 3
645350952342, 4

Question Number : 101 Question 1d : 64635024289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FrafeEd & 8 F19-3 TR-WRer I8 TR U § SiaT- w2 e gear 334 87

(a) PR

(b) HRE I = Al
(¢) dar

(d) A IH g Ak
Ha1ide Iuged fAee g
L (@), (), () 3R (d)
2. (c) 3 (d)

3. (@, M) 3R (@

4, aa (b)

Options:

64535095239, 1
E4E35095240. 2
64535035241, 5
645350352342, 4

Question Number : 102 Question Id : 64635024290 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Components of adult psychology are
(a) learmng
(b) motivation
(¢) monitoring of the programme
(d) traimng of instructors

Select the most suitable option :

1. (b)and(c)
2. (a)and (b)
3. (a)and(c)

4. (a), (b),(c)and (d)

Options:
452350953543 1

E4E350952344. 2
645350952345, 3
645350952346, 4

Question Number : 102 Question 1d : 64635024290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Vil AT & 920 @
(a) SffeFTH
(b) IR
(c) SrIDH B! FRF
(d) el BT e

T4t Iuged e g
L. (b) 3R ()
2. (a) 3R (b)
3. (a) 3R (c)

4. (), (), (c) 3R (d)

Options:

645350953543 1
64535035244, 2
64535035345 =
64535035346, 4

Question Number : 103 Question 1d : 64635024291 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List-II :

List-I List-I
(a) Children (1) Property of any kind
(b) Parent (1) 60+ years
(¢) Property (111)  Son and daughter
(d) Senior citizen (iv)  Father/Mother

Choose the correct option from those given below :
1. (a)-); (b)—(m); (e)-v); (d)-(11)
2. (ay(ui); (b)-(v); (c)-1); (D-11)
3. (a)y-(); (b){iv); ()-(it); (1)
4. (a)—); (b)~u); (e)—-(u1); (d)-(v)

Options:

64535095347, 1
64535035348, 2
64535035349 2
E4E35095250. 4

Question Number : 103 Question Id : 64635024291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I3t -1 I gA-11 9 GAfta S
-1 a1

@ = (i)  fdl Ht yeR & duf
(b) Hra-foa i) 60+ a¥
(c) Hofd (i) ARG
(dy afg e (iv)  fody/ama
4 feu U faewed @ 9 9 I S 99 S

L. (@)-); (b)-1ui); (¢)-(1v); (d)-(11)
2. (a)-(u); (b)-(v); (c)-(1); (d)-(11)
3. (a)-); (b)-(v); (¢)-(i1); (d)—)
4. (@)-@); (B)~1); (©)1i); (d)-(v)

Options:
45250952471

E4E3503953458. 2
E45350952349. 3
64535035350, 4

Question Number : 104 Question 1d : 64635024292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List-II :

List—I List-II
(a) NSAP (1) National Family Benefit Scheme
(b) NOAPS (11)  National Matermty Benefit Scheme
(¢) NFBS (1) National Social Assistance Programme
(d) NMBS (1v) National Old Age Penson Scheme
Choose the correct option from those given below :
. (@-@); (B)-u); (e)—w); (d-av)
2. (a)-(); ()i); (-v); (1)
3. (a)-(m); (b)-Qv); (c)-(1); (D))
4. (a)y(i1); (b)—1); (e)-(1i); (d)—1v)
Options:
64635095351 1
64635095352, 2
64635095353, 3
64635095354, 4

Question Number
Single Line Quest

: 104 Question Id : 64635024292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
ion Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ta! -1 &1 gai-11 9 gafed oifom

a1 -1
() TATE. T (i)  UPEufER fedqery aemT
(b)) TASTTTI (i) PN HGS Radm de
(¢) TLUBMTH (i) PG ARG TEHd HRIHH
() TA.TH.§L T (iv)  IPTE JETERIT U o
= feu 7 fawed A | 9E I &1 99 S
L. (@)@ (b)iii); (e)(1); (d-(v)
2. (@), (b)-(u); (¢)-(v); (D)D)
3. (a)ii); (b)~(iv); (e)-(); (i)
4. (a)(); ()-); (0)(d); (d)iv)

Options:

6453509535101
64535035352, 2
64535035353 2
64535035354 4

Question Number : 105 Question 1d : 64635024293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I wath List—II :

List-I List-II
(a) SSA (1) Literacy
(b) NLM (1)  Skill development
(¢} SRC (111) Resource provider
(dy JSS (iv)  School education

Choose the correct option from those given below :

1. (a)-i); (b)-Gi); ()-1); (d-av)

2. (a)-Qv); (0)-i1); (e)-b); (1)

3. (a)-(v); (b)-(1); (e)~{u); (D)1

4. (a)-); (b)-n); (c)-m); (d)-(v)

Options:
64635095355,
64635095356,

EdEZ5035357.
E4EB25035358.

[ N

Question Number : 105 Question Id : 64635024293 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et -1 B g1 9 gafed sifo
-1 -1

@ TETET ()  Hera

(b) TF.Ud. A (i) DR RN

() U9 R4 (i)  TEIY werar

() dTETE (v) foemerd fam
=i fa U faeed W 9 HE ST @1 99 Bl -

. (a)—(i); (b)—(id); ()—(1); (D)

2. (a)-(v); (b)-(ui); (c)}-(); (d)~1)
3. (@)-v); (b)), (e)(inn); (d)—(11)
4. (a)-0), (0)—a1); (c)—(ii); (d)—av)

Options:

645350953551
64535035356, 2
64535035357, 2
64535035358, 4

Question Number : 106 Question 1d : 64635024294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List-I with List-II :

List-] List—II
(a) Historical research (1) Control of variables
(b) Action research (11) Post-onented
(¢} Survey research (i1i) Local problem
(dy Experimental research (1v) Current status

Choose the correct option from those given below :
(a)-(1); (b)—11); (c)—(1i1); (d)-(1v)
2. (a)y-(v); (b)-Qun); (c)-1); (D)1
3. (a)y-(); (b)-i); (e)-Gv); (D)D)
4. (a)-(u); (b)-Q); (©)—n); (d)-Ov)

Options:
E4E3E095359.

EAEZ50395360,
EAE35095361.
BAE35095362,

p—

[ N

Question Number : 106 Question 1d : 64635024294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



=t -1 & g=h-11 2 grfea i
a1 -1

(a) TfERe Yy @) T T Bda

(b) @l =y (i) TG

(c) Tdamr ey (i) U g

(d) e o (iv) gaHF =i
- fou U fawey § 9 9El IR &1 999 ifo ;

L (a)-@); (b)-u); (o)(1); (D-av)
2. (a)-Qv); (b)-(m); (c)-(); (d)-1)
3. (a)-qu); (b)-); (e)-(wv); (d)-(1)
4. (a)-(ui); (b)-Q); (e)—1); (D)

Options:

64535095359 1
645350352360, 2
64535035361, =
64535035362, 4

Question Number : 107 Question 1d : 64635024295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List=II :

List-I List—II
(a) Radio Pilot Project (1) 1966
(b) University Broadcast Project (1) 1965
(¢) Farm and Home Broadcast Project (1) 1979

(d) Adult and Community Development (1v) 1956

Choose the correct option from those given below :

I (@-@); (b)1); (e)(n); (d)—(v)

2. (a)-(ui); (b)-(D); (©—D; (D-(v)

3. (a)-); (b)-); (¢)-(v); (d)—1)

4. (a)-(v); (b)-(i); (c)-(1); (d)—11)
Options:
64635095363,
64635095364,

645350395365,
645350395366,

[ N

Question Number : 107 Question Id : 64635024295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tt -1 B g1 9 gafed Sifog
-1 I-11

(a) 3 v i (iy 1966

(b) Ty vaR giaem (i) 1965

(c) ™H UUS T FISHRC Vioiae (iii) 1979

(d) Tie 3R Iad e (iv) 1956
H= fou v ey § 9 98 IR &1 997 I ;

1. (a)-Q); (W); (e)~1uD); (d)-(v)
2. (@), (b)-(); (€)-(1); ()-Gv)
3. (a)-(); (b)ii); (3v); (d)1)
4. (a)-(v); (b)-(u); (0)-@1); (D—(11)

Options:
45250953683 1

E4E35035364. 2
E4535095365. 3
E4535035366. 4

Question Number : 108 Question 1d : 64635024296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List=I with List=II :

List-I List-II
(a) Standard deviation @ ¥
(b) Mean i) o
(¢) Median (111) Mo
(d) Mode (iv) Mdn

Choose the correct option from those given below :
(a)—(u); (b)—1); (e)-(v); (d)—(u11)
(a)—(1); (b)—11); (e)ii1); (d)—(1v)
3. (@iv); (b)-(ii); (e)—D); (d)—1)
4. (a)-(u); (b)-av); ()-Q); (d)—-(1)

p—

e

Options:

64535095367,
64535095368,
64535095369,
4835095270,

[ N

Question Number : 108 Question Id : 64635024296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tt -1 &1 gEi-11 3 GRied S
a1 g1

(a) WFS AT 1 ¥

(b)y wre (i) o

(c) wIEeT (iiiy Mo

(d) sguo (iv) Mdn
= fou U fawen # 3 98t IR &1 99 Sifort :

1. (a)-G); (b)-0); ()iv); (d)iii)
2. () (D)-); (o)D); (d-{v)
3. (a-v); (b)-(u); (o)1), ()1
4. (a)-(u1); (b)-(v); (¢)-); (1)

Options:
4525095367, 1

E4E350395368. 2
E4E35095369. 3
BA5350352370. 4

Question Number : 109 Question 1d : 64635024297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List=I with List=II :

List-I List—II
(a) Democracy and education (1) 1938
(b) Gentle reform of education (11) 1923
(¢) Pedagogy of the oppressed (1) 1972

(d) Education as the practice of freedom (v) 1964

Choose the correct option from those given below :

L. (a)-Q); (b)yH11); (e)-{ut); (d)-v)

2. (a-); (b)—1); (o)-v); (d)—(ui)

3. (a)-(u); (b)—1); (¢)—(1); (d)-Qv)

4. (a)-v); (b)-(1); (¢)-(1); (d)(1i)

Options:
64635095371
64635095372,

EAEZ5039537 3.
EAE35095374.

[

Question Number : 109 Question Id : 64635024297 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tt -1 B gat-11 9 gaferd sifow
a1 -1

(a) VS 3R R (i) 1938

(b) en @ Sica gUR (i) 1923

(¢c) cfval =t oemrh (iii) 1972

(d) a3 W & T H e (iv) 1964
=4 fag g ferey A/ 98 ST &1 997 S

L. (@-@); (b)—1); ()ui); (d-av)
2. (a)-(); (b)-Q); (©)w); (d)-(11)
3. (a)-(i); (b)1); (e)—(1); (d)-(v)
4. (a)-(v); (b)-(1); (c)-(1); (d)(1i)

Options:
45250952711

EAEZ50395372. 2
E4E35095373. 3
B4535095374. 4

Question Number : 110 Question 1d : 64635024298 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List-II :

List-I List-II
(a) Normal distribution (1)  Good sample
(b) Standard dewviation (1) Nonparametric statistics

(¢} Unbiased observation (i11)  Central tendency

(dy Homogeneous (iv)  Parametric statistics

Choose the correct option from those given below :
L (a)-v); (b)-(); (c)-(i); (D)
2. () (b)-a); (o)-(i); (d-1v)
3. (@), (B-1); (©—v); (D)
4. (a)y-(); (DHv); (e)—1); (d)—u)

Options:

64835095375, 1
4535095276, 2
64535035377, o
64535035375, 4

Question Number : 110 Question Id : 64635024298 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tt -1 B G-I § gAfed s
gl -1

(a) wEHRT AR () oS
(b) W fAEa (i) -k R
(¢) TR 3T (iil) =5 vgr
(d) ol (iv) Tt wfefead
+2 feu mu fAeen ® T 9t TR 1 99 S -

L (a)-Qv); (b)-(m); (c)-(1); (A1)
2. () ()i); (o)-{in); (D)
3. (a-(u); (B)-); (e)-v); (1)
4. (a)-@); (b)-v); (e)-); (d)-(m)

Options:
45250953751

EAEZ5035376. 2
BAE35095377. 3
B4535035378. 4

Question Number : 111 Question 1d : 64635024299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List-II :

List-I List—II
(a) Right to Information Act (1) 1990
(b) National Commission for Women (1) 1995
(¢) Persons with Disability Act (1) 1993
(d) National Commussion Backward (1v) 2005
Classes Act

Choose the correct option from those given below :
L. (@)-v); (b)(ii); (e)-(ih); (1)
2. (a)-Gib); (b)—Gv); ()-): (D)
3. (a); (b)) (e)-{ur); (d-{v)
4. (a-@); (B)-); (1), (d)-(in)

Options:

45350952379, 1
64535035380, 2
64535035381, =
64535035382 4

Question Number : 111 Question 1d : 64635024299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tt -1 & -1 9 GHfE S
a1 al-11

(a) Y1 1 SR Sifuf=aH (i) 1990

(b) ST AfdEn amm i) 1995

(¢) T:=oa =afeg sifeafom (i) 1993

(d) TS ol I smanT iv) 2005
== feu MU Ae ey A 9 98 I &1 I S

1. (@-Gv); (b)-(ii); (¢)-(1); (d)—(1)
2. (a)-(i); (b)-v); ()—1); (d)-(1)
3. (a)-(1); (b)—1); (e)—(u1); (d)-(1v)
4. (a)-(1); ()-Qi); (©—(v); (d)-(id)

Options:

E4E350953749. 1
64535035280, 2
64535035381, =
64535035382, 4

Question Number : 112 Question 1d : 64635024300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List—II :

List-I List—II
(a) Literate (1)  Literacy program
(b) Semu-literate (1)  Open schooling
(¢c) Neo-literate (111) Continuing education centre
(d) Illiterate (iv)  Post-literacy programme

Choose the correct option from those given below :
L. (a)-i); (b)-v); (o-(ui); (A1)
2. (D (DHw); (e)u); (d—{v)
3. (a)-av); (b)-(u); (e)-(): (A1)
4. (@), (b)-(v); (e)-1); (d)—1)

Options:

E4E35095353. 1
64535035284, 2
64535035385, =
645350353586, 4

Question Number : 112 Question 1d : 64635024300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



il -1 & gaEi-11 9 gafed sifon -
a1 ai-11

(a) TR (i)  WeRdl BHHH

(b) oIE-FeR (i) Yo faarea

(¢) +9-TRR (iii)  Tdqd frem F=

(d) frer (iv) TRI-I&Ral BSRIHH
2 feu U fAee © | 98 TR 1 99 S

L. (a-w); (B)—w); (o)), (1)
2. (a)-); (b)—); (¢)—{(u1); (d)—(1v)
3. (a)y-(v); (b)-ii); (e)-(); (1)
4. (a)-(ui); (b)-Qv); (o)-(); (d)-1)

Options:

E4535035353. 1

E4525035384. 2

E4535095385. 3
E45350395386. 4

Question Number : 113 Question 1d : 64635024301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List-II :

(a)
(b)
(c)
(d)
Choose the
L.
2.
5
4.

Options:

645350395387,
645350395388,
EAEZ50395389.
E4E350952390.

Question Number

List—I List—II
Teacher Education (1) NCERT
School Education (i) UGC
Higher Education (11) NCTE

Adult Education (iv) NLM

correct option from those given below :
(a)—(1); (b)-(it); (c)1i); (d)—(1v)
(a)—(11); (b)—(i11); (e)—(av); (d)—1)
(a)-(iin); (b)—1); (e)~(11); (d)-av)
(a)-(i11); (b)—(11); (c)-(1); (D)—(1v)

[

: 113 Question Id : 64635024301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



Tt -1 B gE-11 ¥ gAfd S
a1 G-I

(a) SreOTUes e (i) LR R o
(b) femmera fren (ii) 7 S &
(c) I=fRem (iii) U5 H.8. 3.
(d) g R v TTEW
= feu U e 7 9 I8 3T &1 99 S

L (a)-Q); ()—(); (c)i); (d)-Gv)
2. (a)-(); (b)—); (e)-(v); ()L
3. (a)-(u); (b)-); (c)~m); (d)-(v)
4. (a)-(u); (b-w); ()~1); (d)-Ov)

Options:
4525095287, 1

E4E35095388. 2
E4E35095389. 3
645350395330, 4

Question Number : 114 Question 1d : 64635024302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List-II

List-I List—II
(a) Umversity News i) DVV
(b) Indian Journal of Adult Education (1) IAEA
(¢) Convergence (1) ICAE

(d) Adult Education and Development  (iv) AlU

Choose the correct option from those given below :
L. (a)-); (b)-n); (e)iv); (d)1)
2. (a)-Qv); (b)-(); (e)—(1); (d)1)
3. (i) (b)-); (©-1); (d-v)
4. (a)-Q); (b)av); (e)-(m); (d)—(1)

Options:

645350953491, 1
64535035292, 2
64535035392,
645350352394, 4

Question Number : 114 Question Id : 64635024302 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



it -1 &1 geEi-11 9 gafed oo
a1 111

(a) fRyRETT IHER () Shad

(b) 3f$TISa P USwe Ugery (i) OB TRT

(¢) H-aolg (i) oms dLu s

(d) vie e ok fdem (iv) Tam.g
2 feu o e § | O IR &1 997 S

L (@ (D-w); (©)-v); (A1)
2. (a-Qv); (b)-(); (¢)-Q); ()11
3. (aui); (b)-(i); ()-(1); (D)-Gv)
4. (a)-1); (Dav); (e)-(im); (d)—1i)

Options:

645350953491, 1
645350352392, 2
645350353293 =
645350352394, 4

Question Number : 115 Question 1d : 64635024303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List=I with List=II :

List—I List-II
(a) National Policy on Women (1)  Social education
Empowerment
(b) National Policy on Education (11)  Vocational education
(¢} National Population Policy (1) Worker’s education

(d) National Policy on Skill Development (iv) Night school

Choose the correct option from those given below :

L (@a-: (b); (e)-D); (d—1v)

2. (a)y-(u); (b)m); ()-av); (d—1)

3. (a)-(m); (b)-(v); ()-Q); (d)—11)

4. (a)-@v); (b)-(ui); (c)-); (d)—(11)
Options:
64635095395,
64635095396,

64535035397,
645350953398,

[ N

Question Number : 115 Question Id : 64635024303 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt -1 1 gell-11 ¥ GHfed S

-1 Tal-11
(a) ¥l Afgen gferres o Hifd () e Rren

(b) St e Hifa (i) oEaa® e

(c) i S Hifd (i) IR e

(@ T SR e i (iv) T e
=4 feu U foerey § 9 O€l I @199 S

L. (a)-Q); (b)(u); (c){iii); (d)-(v)
2. (a)-(); (b)—1ui); ()-(v); (d)-1)
3. (a)-); (b)-v); (0-Q); (D))
4. (a)-(v); (b)-(u1); (c)-); (D)—~(11)

Options:

645350953495 1
64535035296, 2
645350353297, 2
64535035398, 4

Question Number : 116 Question 1d : 64635024304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List-II :

List-I List-—II
(a) National Technology Mission (1) Morarji Desal
(b) Shakshar Bharat Abhiyan (1) Rapv Gandhi
(¢c) Swachh Bharat Mission (111) Manmohan Singh
(d) National Adult Education (iv) Narendra Modi

Programme

Choose the correct option from those given below :
. (@)-a); (B)-i); (e)-v); (d)—1)
2. () (b)i); ()—D): (d-Gv)
3. (a)-); (b)-1); (e)—u1); (D-Gv)
4. (a)-(v); (b)-); (c)—(u1); (d)—(1)

Options:

64535095299, 1
E4E35095400. 2
64535025401, =
64535035402, 4

Question Number : 116 Question Id : 64635024304 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tt -1 & -1 | gafera sifem
Tal-1 -1

(a) ¥Ta TR () ORIl

(b) T&R YRA 3T (i)  roia et

(c) %= ura o= (i) THIET Rie

(d) i g Rien sriww (iv) % HE
= feu 7 famen # 9 98! ST &1 997 Sifory :

L. (a)-(); (b)n); (e)-(v); (D)
2. (ay-(u); (b)-(1); (¢)-(1); (d)-(v)
3. (a)-(); (b)-); (©)m); (d)-av)
4. (@-v); (b)) (c)-(in); (d)—(1)

Options:

645350953499, 1
64535035400, 2
64535035401, =
64535035402, 4

Question Number : 117 Question 1d : 64635024305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List-1 with List-II :

List-I List—II
(a) Communicator iy TV
(b) Behaviour (1)  Non-verbal commumnication
(¢) Gesture (111) News reader
(d) Audio-visual aid (iv)  Attitude

Choose the correct option from those given below :
L. (a)-Q1); (b)-v); (o)1) (D)
2. (a); (D1); (e)Hur); (d)—{v)
3. (a)-(u); (b)-Qv); (e)-(): (d)—1)
4. (@-v); (b)-(u1); (e)-(1); (d)—3)

Options:

64535095403, 1
E4E35095404, 2
64535025405, o
64535035406, 4

Question Number : 117 Question Id : 64635024305 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



gt -1 I gAI-11 9 GHfd i
i1 e

(a) dUwD (i) fefaes
(b) TIER (i) MR- Jowor
(c) HEHfmr (111) THERIED

(d) Hoa-TX0 GErdH-9reul (iv) Sfosi

4 fu U fdwey © 9 I I &1 997 S -
L. (a)-Q1); (0)-v); (0)-@1); (d)—1i1)
2. (- (b)), (i), (D-Gv)
3. (a)-(@); (b)-Gv); (e)-1); (d)—-1)
4. (a)-@v); (b)—(u1); (e)-1); (d)—1)

Options:

64535095403 1
645350325404, 2
64535035405 =
64535035406, 4

Question Number : 118 Question 1d : 64635024306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List=II :

List—I List—II
(a) Sir Visvesvaraya (1)  Social Education
(b) Maulana Abul Kalam Azad (1)  Vocational Education
(¢) Functional Literacy (1) Worker’s Education
(d) Indian Labour Conference (iv)  Night School

Choose the correct option from those given below :
L. (a)-Gv); (b)-Q); (e)-(1); (d)-in)
2. (@)-(v); (b)) ()1, (D)
3. (a)-(u); (b)-(); (¢)-(1); (d)-Qv)
4. (@), (b)-1); (c)-(v); (d)—1)

Options:

64535095407, 1
64535025408, 2
64535035409 =
64535035410, 4

Question Number : 118 Question 1d : 64635024306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



=t -1 & -1 T gaferg s
-1 a1

(a) TR fafsRan i) eI e

(b) HIEFT 3T HAM TG (i) =aaaTe e

(¢) aED el (iii) SR e

(d) HRdH yHE 9y (iv) T e
= U 7T Aoy | S 98 IR 31 7997 S ;

L (@-v); (b)-; ()-); (d)-(u)
2. (a)-v); (b)-Gui); (o)), (D))
3. (a)-(ui); (b)-); (e)~(1); (d)-Gv)
4. (a)-(i); (b)-a1); ()-(v); (1)

Options:
4525095407, 1

E4E350395408. 2
E4535095409. 3
64535095410, 4

Question Number : 119 Question 1d : 64635024307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List-II ;

(@)
(b)
(©)
(d)

Choose the
1.
7.
3.

4.

Options:

64535095411,
E4E350395412,
E4E35095413.
BA535095414.

Question Number

List-1 List-I1I

Gandhi (1) Universal man
Vivekananda (1) My Experiment with Truth
Tagore (11) Savitr

Aurobindo (iv) Practical Vedanta

correct option from those given below :

(a)-(u1); (b)-(av); (¢)-Q1); (dD)—1)
(a)-(ir); (b)—1v); (¢)—(1); (d)-(ii1)
(a)-(11); (b)—av); (c)-(11); (1)
(a)—-(1v); (b)—(1ii); (c)—(1); (d)—(i1)

[ R

: 119 Question Id : 64635024307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



Tt -1 & =11 9 gt S
Tai-1 Tal-11

(a) it (i) faumFg

(b) fadPFT i) I F IR T

(c) <R (i)  GrfeE

(d) SRSl (iv) SATaRING dgHT
12 fou 7T fAee A 9 I IR &1 797 it ;

1. (a)-); (B)-av); (¢)-Q); (d—u)
2. (@) (b)-av); ()-1); (d)-)
3. (a)-(); (b)1v); (0)-(i); (d)~D)
4. (a)-(v); (b)-(m); (e)-Q); (A1)

Options:

64535095411, 1
64535025412, 2
64535035413 =
64535035414 4

Question Number : 120 Question 1d : 64635024308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List—II :

List—I List—II
(a) Foundations of Human Behavioural (1) Garrett H. E.
Research
(b) Statistics in Psychology and (1) Fred N. Kerlinger
Education
(¢) Nonparametric Statistics for the (11) Best] W.

Behavioural Sciences

(d) Research in Education (iv) Siegel. S.

Choose the correct option from those given below :

1. (@-); (1) (e)-(v); (d)-w)

2. (a)y-) (b-); (c)u); (d-(v)

3. (a)-Gv); (b)-(ii); (e)-(i); (d)—()

4. (a)-(it);, (b-v); (o-1); (i)
Options:
64635095415,
64635095418,

EAEZ5095417.
E4E35095418.

o LIRS

Question Number : 120 Question Id : 64635024308 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



et -1 &1 Jei-11 F gafed Sifo
a1 -1
(a) WIS 316 ggr- fMefderafied () Mewa. g
(b) VR IgomEel s ugeIT (i) Hs T3 3Rf6R

(¢) =-tfes Rfefea@wRrR T (iii) I T
fefera ggaw
(d) fod 57 egahe= (iv) dMdo.
= feu 7u fase A 9 g 3T &1 994 Sifols ;

L. (a-Qu); (b)-Q); (©)1v); ()11
2. (a0 (D-); (o)1); (d)-av)
3. (a)-(v); (b)-(u1); (c)-(); (1)
4. (a)-(u1); (b)-(v); (e)-(1); (d)—i1)

Options:

64535095415 1
64535035416, 2
64535035417, =
64535035415, 4

Question Number : 121 Question 1d : 64635024309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List=I with List=II :

List-1 ListI
(a) Liberal (1) Ilich
(b) Behaviourist (11}  Socrates
(¢) Humanstic (1) Thorndike
(d) Radical (iv) Knowles

Choose the correct option from those given below :
L (a-); (b)—u); (0)~1v); (d)—(i1)
2. (a)-); (byw); (¢)-v); (d)~(11)
3. (a-); (b)(); (e)-(v); (-1
4. (a)-(); (b)-@); (0)id); (d)—(iv)
Options:

645350395419, 1
64535095420, 2
E4E35095421. 3
BAE35095422. 4

Question Number : 121 Question Id : 64635024309 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



gt -1 &1 Je-11 9 gHfera o
-1 Hal-11

(a) TeRER! (i) sl
(b) AIERATG! (1) gpId
() HFEAER (i) YHSED
(d) wider (iv) =™

=14 feu T faeey § @ 98 IR 1 99 SBifew :

L (@)-); (b)—(ii); (9)—v); (d)—(i)
2. (a)y(); (b)-1); (e)—(v); (d)-1i)
3. (a)-(u); (b)-un); (e)-(1v); (d)~D)
4. (a-w); (D)1); (o)—(u1); (d)-av)

Options:

64535095419, 1
64535035420, 2
64535035421, =
64535035422 4

Question Number : 122 Question 1d : 64635024310 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List—II :

List-1 List—II
(a) Observational learning (1)  Dollard and Miller
(b) Drive reduction theory (1)  Albert Bandura
(¢) Self theory (111) Abraham Maslow
(d) Self activisation theory (iv) Carl Rogers

Choose the correct option from those given below :

Lo (a)); (W—0); (o)) (1)

2. (a)(i); (b)H1v); (o)), (d)-(1i11)

3. (a1 (b)-1); ()—v); (d)~1i)

4. (a)-(i); (b)-v); (e)—(it); (d)1i1)
caganos5423
64635095424,

64535095425,
EAE35095426,

o I P

Question Number : 122 Question Id : 64635024310 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T -1 = g-11 § gAfa i
a1 a1

(a) ffesd==d A= (i) T 3R R
(b) gra e ard (i) 3w T
(c) Tep-ad (i)  3r§TEy Ol

(d) Wep-UiccdzoR= ARl (iv) e IR

A feu U faesed A 9 981 S<R &1 997 S :
1. (a-); (b)) (¢)iv); (A1)
2. (a)@); ()—v); (c)-Q); (d)~(uy)
3. (a1 (b)-w); (©)-v); (d-u1)
4. (a)-1); (b)—1v); (e)-(1); (A1)
Options:
64535035423 1
E4525035424 2

E4E35095425. 3
BAE35095426. 4

Question Number : 123 Question 1d : 64635024311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List-II :

()
(b)
()
(d)
Choose the
L.
3,
3.

4.

Options:

EAE35095427.
BA535095428.
645350395429,
645350395430,

Question Number

List-I List-II

NIOS (1) 1961

NCERT (1) 1995

NLM (1) 1988

NCTE (iv) 1989

correct option from those given below :

(a)-(11); (B)—1); (c)av); (d)~(1i)
(a)-(1v); (b)-@); (c)-(u1); (d)-(11)
(a)(1i1); (b)-(1i1); ()—(@); (d)—(1v)
(a)-(11); (b)-(1); ()-(v); (d)~1)

[ N

1 123 Question Id : 64635024311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



T -1 B g1 A gARE FRT -

=1 -1
(a) T 3. ol T (i) 1961
(by TEHMEIRA (i) 1995

(¢c) TUH. U4 UH. (iii) 1988
() TwHH A3 (iv) 1989
H fou e Awey A 9 98 IR @197 i

1. (a)-Qi); (b)1); (e)—(1iv); (d)iii)
2. (@-(v); (b)-1); ()-(ui); (d)—i)
3. (a)-@); (b)-); (H1); (D-(v)
4. (a)-(u);, (b)-(); ()-(wv); (1)

Options:

E4E35095427. 1
64535035428, 2
64535035429 =
64535035430, 4

Question Number : 124 Question 1d : 64635024312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List-II ;

List-I List-1I
(a) Equvalency Programme (1)  Basic Primer
(b) Angootha Chap (11) Population Awareness
Programme
(¢) PEC (111} Continuing Education
(d) Khilti Kaliyan (iv) Motivational Literacy Film

Choose the correct option from those given below :
L. (a)-u); (b)—1); ()-1); (d)-v)
2. (a)y-Qu); (b)y-Qv); (c)-(); (d)—1)
3. (a)-(); (b)-(); (e)-(1); (d)-(v)
4. (a)-(); (b)-({); ()-av); (1)

Options:

64535095451, 1
64535035422, 2
64535035433 =
64535035434 4

Question Number : 124 Question 1d : 64635024312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



et -] B eil-11 9 GAferd s
a1 gat-11

(a) TG HRIHH () e uEw

(b) SFBIEMY (i)  SFEE GG HRH

© Wi (i)  Gad R

(d) TEadwiedr (iv) YOG S Tl Jera e
#a feu U faeer A 9 9 IR &1 99 iy

L (a)-(m); (b)-); (¢)-(); (d)-Qv)
2. (a)y-(i); (b)-(v); (c)-(i); (d)—1)
3. (a)-(@); (b)-); (e)-(in); (d)-(v)
4. (a)-@); (b)-(i); ()-(v); (-1

Options:

64535095451, 1
64535035422, 2
64535035433 =
64535035434 4

Question Number : 125 Question 1d : 64635024313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List—II :

List—I List-II
(a) Make-in-India (1)  Promoting skill development
(b) Start-up-India (1) Promoting entrepreneurship development
(¢) Skilling India (i) Financing small enterprises

{(d) Mudra Bank (1v)  Promoting Indian productions

Choose the correct option from those given below :
1. (a)-(v); (b)-(); (¢)-(un); (d)~1)
2. (a)-Q); (W)-av); (c)-(1); (d)—(111)
3. (a-(v); (b)y-w); (¢)-); (D))
4. (a)-); (b)—1u1); ()-av); (1)
Options:
64635095435, 1
64635095436, 2

645350395437, 3
645350395438, 4

Question Number : 125 Question 1d : 64635024313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tt -1 B gi-11 | GAfed ST
-1 -1
(a) Wo-z7-3fea (i) o e @ U=
(b) wr-3m-3fEaw (i) efta Ao ot Tieme o
(c) e sfeam (i) Y ITH BT AT HAT

(d A3 (iv) HRA ITe &1 ieTeT 3
== feu 7o oy A 9 9gl I 1 99= e -
1. (a)-(v); (b)-(i); (c)(ii); (1)

2. (- ()-av); (e)-1); (d)-(111)
3. (a)-(v); (b)-1); ()-(1); (d)—(11)
4. (@-(1); (B)-ui); ()-(v); (1)

Options:

64535095455 1
64535035426, 2
64535035437 =
64535035435, 4

Question Number : 126 Question 1d : 64635024314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List—II :

List—I List-I1
(a) SHGs (1)  Organizing macro enterprises
(b) JSSs (11)  Operating skill development programmes
(¢) NSDC (111) Promoting micro-enterprises
(d) SEWA (1v) Policy development on vocational skill
development

Choose the correct option from those given below :
L (a)-); (0)-); (om); (d)-av)
2. (a)y(u); (b)-u); ()-v); (D)
3. (a-Qv); (b)-(); (¢)-); (A1)
4. (@-0); (b)-in); (¢)-v); (d)—(i1)

Options:

64535095439, 1
64535035440, 2
64535035441 =
64535035442 4

Question Number : 126 Question 1d : 64635024314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



It 1 B gEi-11 9 gAfad S -
-1 I
(a) UH UE S i) SHP IHE &1 TS
(b) . TH.TH (i) Sd o™ HriwmH H1 uREre
() TATESLHl (i) eH ITH B WS &
(d) 3T (V) wmﬁwﬁaﬁﬁm

A= fu o fdee A 9 Ol 35 &1 9U S
L (a)-@); (0)-1); (c)—(u1); (d)-(v)
2. (a(m); (b)-); (e)-v); (D)
3. (a)-v); (b)-); (o)-); (d)~uD)
4. (a)-); (b)-(m); (¢)1v); (d)—(u)

Options:

64535095459 1
64535035440, 2
64535035441 =
64535035442 4

Question Number : 127 Question 1d : 64635024315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The adoption of modern communication in agriculture enhanced
the productivity of the farmers.
Reason (R) :  The low level of education of the farmers is adversely affecting the

utility of the modern knowhow in agriculture.
In the context of the above two statements, which of the following 1s correct?
1.  (A)is correct and (R) 1s not correct
2. (A)isnot correct and (R) is correct
3. (A)and (R) are correct

4. (A)and (R) are not correct

Options:

64535095443, 1
64535035444 2
648350395445 =2
4535095446 4

Question Number : 127 Question Id : 64635024315 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T gl By feu e B foFH 9 te ey (A) IRgEI ad (R) © -
IMBYFT(A) DIV H YT TUNU B T T FVDI B IdTeHd 931 T

@ (R) . DI I BH Y WS IR B § nyfe dr-ade! @t Iuaiid
R yfdgd THE TS 381 8

Iad Fl HY & GgH B FUfiad # | SF-91 98 87
. (A) SEITSR®R) T o8
2. (A)TTEEIRE®R THE
3. (A)MME®) FEE
4. (A)IRR) FE T E

Options:

64535095443, 1
64535035444 2
E4E35095445 =
64535095446, 4

Question Number : 128 Question Id : 64635024316 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  Percentage of illiteracy is higher in poor underpriviledged section
of society.
Reason (R) :  Livelihood not education is the priority of poor family.

In the context of the above two statements, which of the following is correct?
1.  (A)and (R) both are correct and (R) 1s the correct explanation of (A)
2. (A)and (R) both are correct but (R) is not the correct explanation of (A)
3. (A)is correct and (R) is wrong

4. (R)1s correct and (A) 1s wrong



Options:

64535095447, 1
648350395448 2
E4E35095449 =2
64535035450, 4

Question Number : 128 Question Id : 64635024316 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e dl By U e B, o 9t iy (A) SIR g0 d® (R) §
FBYF(A) - T $ R afEE o ° Frerar 1 S=a vfawa B
& (R) e oRar & form Rren =, sfew ereifae muftewar 21
U aiFl Ul & e § Fufafed o § s-arad 87

(A) 3R (&) DN TDE R (R), (A) P 5 e B

2. (A) IR (R) T T € WG (R), (A) T uE) s T §
(A) T R (R) T §

4. (R) R 3R(A) Ted B

—_—

i

Options:

64535095447, 1
648350395448 2
E4E35095449 =2
64535035450, 4

Question Number : 129 Question Id : 64635024317 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  Quality of research depends on the commitment of the researcher.
Reason (R) . Plagiarism 1s affecting the quality of the research.

In the context of the above two statements, which of the following is correct?

[

Both (A) and (R) are correct
2.  Both(A)and (R) are not correct
3. (A)is correct and (R) 1s wrong

4. (A)is not correct and (R) is correct

Options:

64535095451,
64535095452,
E4E835095453.
E4E535095454,

[ Y

Question Number : 129 Question Id : 64635024317 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4535095451. 1
645350395452, 2
645350395453, 3
64535035454, 4

Question Number : 130 Question Id : 64635024318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  There has been a fast growth of higher education institutions in
India in last ten years.
Reason (R) :  The quality of higher education has improved.

In the context of the above two statements, which of the following is correct?

—

Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
2. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
3.  (A)is false but (R) 1s correct

4. (A)1s correct but (R) 1s wrong
Options:
64635095455 1
64635095456, 2
64635095457, 3
64635095458, 4

Question Number : 130 Question Id : 64635024318 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535035455,
64535095456,
E4E35095457.
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Question Number : 131 Question Id : 64635024319 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  Lifelong learning promotes the human resource development.
Reason (R) . On-the-job traamung also promotes human capital.
In the context of the above two statements, which of the following i1s correct?

1. (A)is correct and (R) is wrong

2. Both(A)and (R) are correct

3.  Both (A)and (R) are not correct

4.  (A)iswrong and (R) is correct

Options:



E4535095459. 1
64535035460, 2
64535095461, 3
64535035462, 4

Question Number : 131 Question Id : 64635024319 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535095459, 1
64535035460, 2
64535035461, =
4835035462 4

Question Number : 132 Question Id : 64635024320 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  The open distance learmng promotes access to education for all.

Reason (R) . Equalization of educational opportunities is realised through
distance education.

In the context of the above two statements, which of the following is correct?
1. (A)and(R) are correct
2. (A)is correct and (R) 1s not correct
3. (A)and (R) are not correct

4. (A)i1s not correct and (R) is correct

Options:
4535095463 1

E4E3503954E64. 2
E4E350395465. 3
E4E535035466. 4

Question Number : 132 Question Id : 64635024320 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535095463, 1
E4E35035464 2
E4E350954E5 =2
64535035466, 4

Question Number : 133 Question Id : 64635024321 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  Increased opportunities for community learning paves the way for
creating learning society.

Reason (R) :  The learming societies accelerate the pace of socioeconomic
development of the society.

In the context of the above two statements, which of the following is correct?
1.  (A)is correct and (R) is not correct
2. (A)is wrong and (R) is correct
3.  (A)and (R) are correct

4, (A) and (R) are not correct
Options:
64835095467, 1
64635095468, 2
64635095469, 3
64635095470, 4

Question Number : 133 Question Id : 64635024321 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4E350954E67. 1
64535095468, 2
64535095469, o
64535035470, 4

Question Number : 134 Question Id : 64635024322 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Asserfion (A) : The public-private partnership enhances the efficacy of the
programimes.

Reason (R) . The involvement of the target in the monitoring enhances the
quality of the programmes.

In the context of the above two statements, which of the following is correct?
1.  (A)is cormrect and (R) is wrong
2. (A)iswrong and (R) is correct
3.  (A)and (R) are correct

4. (A)and (R) are not correct

Options:
4535095471, 1
64535095472 2



E4E350395473. 3
B4E535095474. 4

Question Number : 134 Question Id : 64635024322 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 135 Question Id : 64635024323 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(iven below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  Communty radio 1s a better way to give information education
among rural people.
Reason (R) . Gyan Vam Radio acts as a tool for community development.

In the context of the above two statements, which of the following is correct?
1. Both (A)and (R) are correct
2. Both {A)and (R) are correct and (R) 1s the correct explanation of (A)
3. Both(A)and (R) are correct, but (R) is not the correct explanation of (A)

4. Both (A) and (R) are wrong

Options:

E4E835095475.
4535095476,
4535095477,
64535095478,

[

Question Number : 135 Question Id : 64635024323 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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EAE35035477. 3
B45350395478. 4

Question Number : 136 Question Id : 64635024324 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Swayam 1s an instrument for self-actualisation providing
opportunities for lifelong learning.

Reason (R) . The expansion of Swayam is study web of active learning for
young aspiring minds.

In the context of the above two statements, which of the following 1s correct?
1.  (A)is correct and (R) is wrong
2. Both (A) and (R) are wrong
3. Both (A) and (R) are correct
4. (R)1s correct and (A) 1s wrong
Options:
64635095479, 1
64635095480, 2

E4E525035481. 5
E4B25035452. 4

Question Number : 136 Question Id : 64635024324 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535035479,
EAE35035480,
EAE35095481.
EAE35095482,

Question Number

(A) TR IR (R) TEE 7
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[ N

: 137 Question Id : 64635024325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :
Assertion {A) :  Older women are more vulnerable than older men to abuse.
Reason (R) State support to prevent such abuse of women are not effective.

In the context of the above two statements, which of the following is correct?

.

2.

3

4.

Options:
64535095482
645350954584

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
Both {(A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are wrong

(A) is true and (R) is wrong

.1
.2



E4535095485. 3
EA5350395486. 4

Question Number : 137 Question Id : 64635024325 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535095483, 1
E4E35095484 2
64535035485, o
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Question Number : 138 Question Id : 64635024326 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion {A) :  Welive in a media world.

Reason (R) :  Domuinant cultural forms are defined by the media.

In the context of the above two statements, which of the following 1s correct?
1.  Both (A) and (R) are true but (R) is not the correct explanation of (A)
2. Both (A) and (R) are true and (R) 1s the correct explanation of (A)
3. (A)istrue and (R) 1s wrong

4. (A)1swrong and (R) 1s true

Options:

64535095487, 1
E4E350395488. 2
4535095489 =2
64535095490, 4

Question Number : 138 Question Id : 64635024326 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 139 Question Id : 64635024327 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  Formative assessment is an integral part of teaching and learning.
Reason (R) . It contributes to the mark given for the teaching-learning process.
In the context of the above statements, which of the following 1s correct?

1. (A)is correct and (R) is wrong

2. Both (A)and (R) are wrong

3. Both(A)and (R) are correct

4. (R)1s correct and (A) is wrong

Options:

64535095491, 1
64535035492, 2
64535035493 =
64835035494 4

Question Number : 139 Question Id : 64635024327 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535095491, 1
64835035492 2
E4E35095492 =2
64535025494, 4

Question Number : 140 Question Id : 64635024328 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Information and Communication Technologies (ICT) have made
rapid strides 1n the past couple of decades.

Reason (R) . The use of ICT in education remains limited and there is a need to
accelerate efforts to use ICT for fostering quality of education.

In the context of the above two statements, which of the following is correct?

[E—

(A)1s correct and (R) 1s wrong
2. Both (A)and (R) are wrong
3. Both (A)and (R) are correct

4. (R)is correct and (A) 1s wrong
Options:
64635095495, 1
64635095496, 2
64635095497, 3
64635095498, 4

Question Number : 140 Question Id : 64635024328 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T2 d By feu o B W S ue ety (A) iR gEu as (R) ®

BT (A) ¢ fUod oo o¥@l § TET iR TER veifet @, @ &) 3 a9 e 9
Wi @t 8

a% (R) - fen 9 oz ). & &1 Iudn iy w91 g 2 3R fRem ) quETn |
ol &= & fore varst # g s @ smawaesa 2

IudE 1 Bl 5 g A PR 7 @ PE-ar e &
1. (A SRR ER) TR
2. (A) 3R (R) I e 2
3. (A) 3R (R)IH TG
4. (R) 9818 SR (A) TEa B
Options:
45325095495 1
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64535095437, 3
E4E350954395. 4

Sub-Section Number: 2
Sub-Section 1d: 6463501196
Question Shuffling Allowed : Yes

Question Id : 64635024329 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehiension



The term “media literacy” refers to people’s understanding of what media are, how they
operate, what messages they are delivering, what roles they play in society and how audience
members respond to media messages. Level of media literacy enables a person with the
degree of control over the vision of the world they see through the media and can decide for
themselves what the messages mean or develop an exaggerated impression of problems in

society when they lack the control.

One dimension of media literacy deals with the ability to intellectually process information
communicated by the media. The other dimension covers the feelings created by media
messages. While other dimension of media literacy involves interpreting media content from
an artistic or cntical point of view. The aspects of exarmimng the values of medium or

message constifute the other dimension of media literacy.

Sub questions

Question Number : 141 Question Id : 64635024330 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The dimension of media literacy consisting of exarmining the values of the medium or
the message can be referred to as

1. moral
2. economic
3. aesthetic

4. political

Options:

£4E8235095499. 1
E4E35095500. 2
64535035501, 5
64535035502, 4

Question Number : 142 Question Id : 64635024331 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A set of ‘learned skills’ of media literacy falls into which of 1ts dimension?

1. Political
2. Social

3.  Moral

4. Cogmtive

Options:

64535095503, 1
64535035504, 2
648350395505 2
4535035506, 4

Question Number : 143 Question Id : 64635024332 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which dimension of media literacy covers the feeling created by the media message?

1.  Political
2. Cogmtive
3.  Aesthetic
4. Emotional

Options:

64535095507, 1
64535035508, 2
64535035509 =
64835095510 4

Question Number : 144 Question 1d : 64635024333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The dimension of media literacy that deals with the ability to intellectually process
information communicated by the media 1s

| aesthetic
2. cognitive
3. ECOonomic

4.  political



Options:

64535095511, 1
648350395512 2
E4E35095512 2
64535035514, 4

Question Number : 145 Question Id : 64635024334 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The author of the text is referring to how many dimensions of media literacy?

1. Two
2. Thtee
3. Four
4.  Five

Options:

64535095515, 1
64535035516, 2
64535035517, 2
648350395518 4

Question Id : 64635024329 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuestion Label © Comprehension
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Sub questions



Question Number : 141 Question Id : 64635024330 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535095499, 1
64535035500, 2
648350395501, 2
E4E35095502. 4

Question Number : 142 Question Id : 64635024331 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535095503, 1
64835035504, 2
E4E35095505. 2
64535035506, 4

Question Number : 143 Question Id : 64635024332 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835095507, 1
E4E35095508. 2
64535035509, 5
64535035510, 4

Question Number : 144 Question Id : 64635024333 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. HIFTHS
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Options:

64535095511, 1
64535035512 2
64535035513 =
64535035514, 4

Question Number : 145 Question 1d : 64635024334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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2. dF
3. TR
4. UHN

Options:



E4535095515. 1
64535035516, 2
64535035517, 3
645350395518, 4

Sub-Section Number: 3
Sub-Section 1d: 6463501197
Question Shuffling Allowed : Yes

Question Id : 64635024335 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension

Orientation, also called on-boarding, is designed to provide new hives with the information
they need to function comfortably and efficiency in the organization. Also called ‘boost
campus’ (a term used to ornent fresh hives in the army) induction is a planned introduction of
fresher’s to their job, their peers and company. Induction is another term used to denote

orientation.
Typically, orientation conveys three types of information :

e General information about the daily work routine.

o A review of the firm’s history, founding fathers, objectives, operations and products or

services, as well as how the employee’s job contributes to the organization’s needs.
o A detailed presentation, perhaps, in a brochure, of the organization’s policies, work rules

and employee benefits.

Sub questions

Question Number : 146 Question Id : 64635024336 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The passage overall focuses on the specific area of

1. traimng and development
2.  orentation training
3. 1nduction programme

4.  post training

Options:



E4535095519. 1
64535095520, 2
64535095521, 3
645350395522, 4

Question Number : 147 Question Id : 64635024337 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who is the main target group for induction training?
1.  Freshers and peers
2. Only freshers
3.  Peers of the orgamzation
4. Top level executives

Options:

64535095523, 1
64835035524 2
E4E35095525 2
64535035526, 4

Question Number : 148 Question Id : 64635024338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Work rules of the employees are presented in the form of

—_—
.

employee profile

2. brochure

3.  annual appraisal of employee
4. company posters

Options:

E4E35095527. 1
64535035528, 2
64535035529, 5
64535035530, 4

Question Number : 149 Question Id : 64635024339 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



How many types of information are given in the orientation training?

1. Two types
2.  Four types
3.  Three types
4.  Fivetypes

Options:

64535095531, 1
64535035532, 2
64535035533 2
64535035534 4

Question Number : 150 Question Id : 64635024340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Presentations on the firm’s objectives, history and all other aspects will happen in
1. posttraining programmes
2. omentation trainings
3.  evaluation workshops

4. routine staff meetings
Options:
64635095535, 1
64635095536, 2
64635095537, 3
64635095538 4

Question Id : 64635024335 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehension
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Sub questions

Question Number : 146 Question Id : 64635024336 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. wfrenr o e
2. ffufa=m ufremr
3. Udod smH

4. UiRrEu IWd

Options:

64535095519, 1
64535035520 2
648350395521, 2
64535035522, 4

Question Number : 147 Question Id : 64635024337 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. Ay R geant
2. Saa AfgfEm

3. EH & Feant
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Options:

64535095523, 1
64535035524, 2
648350395525 2
64535035526, 4

Question Number : 148 Question Id : 64635024338 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535095527, 1
64835035528, 2
E4535035529. 5
64535035520 4

Question Number : 149 Question Id : 64635024339 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. TSR
2. IRUDR
3. dH¥ER
4. UHUSR

Options:



E4535095531. 1
64535095532, 2
64535095533, 3
645350395534, 4

Question Number : 150 Question Id : 64635024340 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535095535, 1
64535035536, 2
64535035537, 2
64535035538 4



